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DDKKHA [2] Eng. (XII)
PART - A
(Marks - 60)
1. Answer any two of the following questions, each is about 100 words : 6x2=12
(a) “She would forget our brief encounter”
—Who said this and about whom ? Waht is the brief encounter referred to here ? Why did the
speaker think so ? [+1+2+2
(b) How was the wounded man revived and nursed ? Why did he ask forgiveness of the Tsar ? What
did the Tsar do when he had gained the man for a friend ? 2+2+2
(c) What had remained the routine of Abdul Kalam’s father even when he was in his late sixties ?
What does Abdul Kalam say about his emulation of his father ? 3+3
(d) “Iwould teach you right from wrong” —Who said this, to whom and when ? How did the speaker
transform the person spoken to here ? 1+1+1+3

Ans.
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2. Answer any two of the following questions, each in about 100 words : 6x2=12
(a) Justify the little of the poem ‘On Killing a tree’. 6
(b) Describe the natural setting in ‘Asleep in the valley.” How did the soldier die ? 3+3
(c) How does the beauty of the poet’s friend surpass the beauty of summer? 6

(d) What picture of summer is presented in ‘The Poetry of Earth’ ? How has it been carried on to
the picture of winter ? 4+2
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3. Answer any one of the following questions in about 100 words : 6x1=6

(a) Why did Lomov think about taking a decision about getting married ? Whom did he want to

marry ? Why ? 3+142
(b) “I’m the most unhappy of men !”” Who said this ? Why did he say so ? How did the speaker get
rid of his unhappiness ? 1+3+2
(c) Sketch the character of Chubukov. 6

Ans.
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4. (a) Do as directed : 1 x6=6
(1) Eat some more, son. (Change the voice)
Ans.

(i1) The Tsar said, “I have come to you, wise hermit, to ask you to answer three questions”.

(Turn into indirect speech)

(i11) Few girls can resist flattery. (Use the noun form of ‘resist’ and rewrite the sentence)

Ans.
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(iv) When you pray, you become a part of the cosmos.

(Split the sentence into two simple sentences)

Ans.
(v) She seemed to find nothing strange in the question. (Turn into a complex sentence)

Ans.
(vi) The humming insects do not disturb his rest. (Make it affirmative)

Ans.
(b) Fill in the blanks with appropriate articles and / or prepositions : 2%6=3
I was prepared (1) to sit there (11) almost any length
(iii) time, just to listen (iv) her talking. Her voice had

(v) sparkle (vi) a mountain stream.
Ans.

(¢) Correct the error in the following sentence by replacing the underlined word with the right
one from the options given below : I1x1=1

The perfume from her hair was tantalised.

[ Options : tantalise, tantalising, tantalisable ]

Ans.
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S.

()

(b)

Read the following passage and answer the questions that follow :
A girl, perhaps in her early 20s, sits in front of Dr. Ramnath Singh at the Vayodha hospital in
Kathmandu’s Balkhu area. Her eyes are red, the corners scroggy, belying her youth. She has not slept
for about 160 hours ever since the day the quake struck Nepal on April 25, and has been fidgeting
continuously.
“She’s suffering from severe psychological trauma”, Dr. Singh, a surgeon who earlier headed the
Nepal Police Hospital, told TOI on Saturday, “She hasn’t closed her eyes for a minute; It has been
a week now. This is the other disaster Nepal will have to cope with.” Across the country, thousands
are exhibiting signs of acute psychosis, deep depression, grave adjustment disorders, panic attacks
and what psychiastrists club under post Traumatic Stress Disorder (PTSD).
Singh put the number of people needing ‘immediate psychological intervention’ at about 25,000. But
this could be a conservative estimate. PTSD symptoms are more apparent after about six weeks of
a calamity, and doctors are bracing for the worst.
State whether the following statements are True and False. Write ‘T’ for True and ‘F’ for
False. (you need not write the sentences, write the numbers only) 1x4=4
(1) The girl was suffering from biological disorder.
(1) The girl has not slept for about a week.
(i11) Dr. Singh is a renowned patient in a Nepal Police Station.
(iv) The Vayodha hospital is in Kathmandu.

Ans.
Answer each of the following questions in about 30 words : 2x3=6
(1) What does PTSD stand for ?

Ans.

(i1) How many people, according to Dr. Singh, need ‘immediate psychological intervention ?

Ans.
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(i1i) Describe the physical condition of the girl.

Ans.

6. (a) Write a report on a career counselling programme that was held in your school within

(b)

(c)

150 words : 2+8=10
Or,

Wrtie a letter to the Manager of a Nationalized Bank of your locality asking him / her to
sanction an educational loan within a short period of time to continue higher studies. (word
limit : 150 words) 2+8=10

Or,
Write a precis of the following passage. Add a suitable title. 2+8=10

Everbody is eager for fortune, but few attain it. One of the reasons is that most men do not exert

themselves properly or are lacking in strength of mind. They lose heart under difficulties and give

up their attempts altogether blaming fate for their failure. They can never win the favour of the

goddess of Fortune. It is only those who work hard win fortune in the end. They face their difficulties

bravely. They do not mind physical hardship and do not depend on others. They may fail once or twice

or even repeatedly; still they do not lose heart but work on with patience and perseverance. Thus,

success in the examination comes to a student who studies sincerely. Success in business also comes

to those who work hard.

Ans.
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PART - B
(Marks - 20)
1. Complete each of the following sentences choosing the correct option from the alternatives
provided : 1x4
(1)  According to the girl, the narrator is always.
(a) happy (b) confused
(c) serious (d) rude

(i1) The world of Dr. Kalam was one of
(a) Science and technology (b) Movies

(c) Politics (d) Literature

(i1i) Mrs. Jones was returning home about

(a) 6 am (b) 4 pm
(c) 11 pm (d) 11 am
(iv) The bearded man was wounded by
(a) the Tsar’s son (b) the Tsar’s friend
(c) the Tsar himself (d) the Tsar’s body guard
2. Answer any four of the following questions, each in a complete sentecnes : 1x4=4

(1) Where did the hermit live ?
Ans.

(i1) How was the bearded man injured ?

Ans.

(i11) What, according to Dr. Kalam’s father, does adversity always present ?

Ans.

(iv) Where did Mrs. Jones work ?

Ans.
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(v)  Whom did the hermit receive ?

Ans.

(vi) Who broke into the narrator’s reverie ?

Ans.

(vil) Where did Roger fall on losing his balance ?
Ans.

(viii) In which town was Dr. A.P.J. Abdul Kalam born ?

Ans.

3. Complete each of the following sentences, choose the correct option from the alternatives

provided : 1 x4=4
(1)  ‘On killing a tree’ ends on a note of

(a) joy (b) indifference

(c) accomplishment (d) failure

(i1) The young soldier’s feet are in the
(a) flowers (b) fern

(c) grass (d) stream

(iii) The ‘eye of heaven’ is
(a) God (b) the sun

(c) the poet’s friend (d) buds.

(iv) ‘The poetry of earth’ is
(a) aballad (b) an ode

(c) a sonnet (d) an elegy
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4. Answer any four of the following questions, each in a complete sentence : 1 x4
(i) Why do the birds faint ?

Ans.

(i1) What scorches and chokes the tree after it is pulled out ?

Ans.

(i11) What is meant by ‘Summer’s lease’ ?

Ans.

(iv) What shall death not brag ?
Ans.

(v) What does the poet say about the poetry of earth ?
Ans.

(vi) How does the stream look in the poem ‘Asleep in the valley’ ?

Ans.

(vil) What does Shakespeare compare his friend to ?

Ans.
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(viii)) Why does the poet ask Nature to keep the soldier warm ?

Ans.

5. Complete each of the following sentences, choosing the correct option from the alternatives

given :

(1)

(i)

The play ‘The Proposal’ was originally written in

(a) Latin (b) Italian
(c) Russian (d) French
Chubukov is a

(a) landowner (b) lawyer
(c) merchant (d) physician

(i11) At their first meeting, Natalya offers Lomov

(a) breakfast (b) lunch

(c) supper (d) dinner

(iv) Lomov, Chubukov and Natalya approach marriage with a sense of

(a) Pragmatism (b) romanticism

(c) idealism (d) cynicism.

1x4=4
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(a) 5+4+3=12 (b) 5+3+3=11
(c) 4+5+2=11 @d 6+2+3=11

(x)  UGC @3 sl q8Ifb (e1eai—

(a) University Grants Commission (b) University Grants Committee

(c) Universal Grants Commission (d) University Grade commission

(xii)  &d RefRmpeTas WretHies Wi TRl 2o —
(a) 5T=d (b) 2 3=d

(c) 39=d (d) 8 <=7

(xii) “Task Force’ 91ot=d Folifasl zo1—
(a) CFIOfF I (b) TR IR

(c) MR SR (d) v G

(xiii) MR R R g 2o —
(a) Wgorl @R Swl ol (b) Rfe @ f2fv ol

(c) 21 ¢ wnefers et ) TR ¢ Sk ol




DDKKHA [ 21 ] Education (XII)

(xiv) ©RCS eI M oflem Fa1 TW—

(a) 15 @fere (b) 15 =5

(c) 10 = (d) 10 «fgle
(xv) 9% STt 2és FET—

(a) ANCA=RA (b) Rzwe™

(c) I (d) sifsfe
(xvi) F© O SR ATH RHFF ST W20 217 272

(a) 2006 (b) 2007

(c) 2008 (d) 2009

(xvii) Jacques Delors (P (M*F SIS € Aoy [F TG =0 2
(a) =R (b) SRR

(c) Temes (d) TR

(xviii) IL[A RAETTR FA (@FF FHEHTT S SR ?

(a) oI (b) R

(c) mifera (d) @GR fERidife 1986
(xix) wRaW Rewma frmd omfs ze—

(a) DR oo (b) FICoR

(c) THWR O (d) @2 7mfe

(xx) 24-34 =fdfm W™ ze1—
(a) 32 (b) 33

(c) 30 (d) 29




DDKKHA [ 22 ] Education (XII)

(xxi) ‘@R I FATT oS 2ea—

(a) QAT (b) alTETT
(c) FICHS (d) oI
(xxii) 2 o Y& Rl dfsie za—
(a) 1982 fRPBICH (b) 1984 I
(c) 1985 f&oit (d) 1987 RGI=
(xxiii) 323 (@2 (FIF M0 IR 2
(a) ¢ (b) SR
(c) T (d) @i

(xxiv) TG AFFTSl FUAF Y ToA—

(a) g Ife= o=y Arwel (b) AR G AFTO!
(c) IF & Ty AFFTS! (d) @3 FHe T
2. fawferfe epafera wfoniog Tea wie ¢ (g aram) 1x16

(i)  Scope FF 5L Ft?

Ted |

(i) I@F (1Q) [Mefam AT (=74 |

Ted |

(i) ST I &4FEF € I 2
Or,



DDKKHA [ 23 ] Education (XII)

AT SIS ATEF (2

Ted |

(v) FR=E FF T2
Or,
RN FICF AT 2

Ted |

(V) S 2

Ted |

(vi) NCRE @3 5l < 12

Ted |

(vi) el FEEE @ R o ez e

Ted |

(viii) IAIfeTIT FHETTT Soig 15 12
Or,
IRERERIIE ISR

Ted |
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(ix) -2 Mreg aew afewEba T Fie
Or,
TS (I e

Ted |

(x) S e ez 7o Pn1 Srard 37|

Ted |

(xi) fifa e afserer st farem 2

Ted |

(xii) @Sl PR 1986 (9 (I ST w1 fzete

Ted |

(xiii) T F2
Or,
55 3% (Talking Book) J12

Ted |

(xiv) F*FFICHCE 3Rs @3 o1 ¢

Ted |
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(xv) ZCSMF G AFLSANEI (T (T GF 212 (#0212

Ted |

(xvi) W.w.wR?
Or,
CAISt?

Ted |




DUM DUM KRISHNA KUMAR HINDU ACADEMY (H.S.)

HIGHER SECONDARY TEST EXAMINATION — 2019
BUSINESS STUDY
Time : 3 hrs. 15 mins. Class - XlI F.M.-80

QUESTION-CUM-ANSWER BOOKLET
80T 0 Lo (=Y 0 =T = T3 4 -

Class : Xl Y=Y 1 Lo o T ROIINO. ...ooeiieeiieiereerirssssssssssssss s s s ssssnnsnnsmmmnmsmmmssnssnnns

Registration NO. | ... e | (T 1 .

Part-A:

Part-B:

Total -

Marks obtained

Examiner’s Signature Invigilator’s Signature
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PART - A
(Marks - 44)

1. fefeiie emiufera Tea wie : (Reg amiwfe wewdm) 4x7=28

(S}

() IR FTREE A’ @R Fég € MRCeT AIf’ I F7 |

Ted |
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(b) IR ARET @ &9 GRG AfeFeT TAME FTI(F «I7ell nle |

Ted |
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€ &3 Y ARTEAT TGRAIR SRS SN I |

Ted |
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(d)  FRoGT TG Tofimieresier qoar |
BREIN

&g ST P (7Y |

Ted |
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() AW 7RI ATAGRIS! G 4 |
w241,
32 T (ATF FA WRATZF BRT 21&wfs cenat 791

Ted |
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H PR Sifenl wrgw wivefe @79
2,
GG S (O SIRMRIF @el<elld S vl 54 |

Ted |
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(@ formEcem SMAwesfe Siana 4|
4,
AfTFEe ¢ FREem W Ay @Y

Ted |




DDKKHA [ 12] Business Study (XII)

2. T emfba Tea wie : (e emafe srwamm) 4x1=4
OIS ST IS QRS SCEh 5 |
B,
Ao T-RE TG A e el &2

Ted |
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DDKKHA [ 14 ]

Business Study (XII)

3. fwfefee emafem Tea we @ (Reg emafa amdm)
(a) SO TG PTATET e7F goR RBFFd KPR D 39 |
o,

TETH FIOCINF @27 2SR RBFHIR Sreragtd [Fapmg SIieb 4|

6x2=12

Ted |
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(b) RPN CCFHOFACNR AT TG T4 |
EREIN
fRstere Rerzasia ofil@l sifiteTnel <=

Ted |
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PART -B

80T 0 o (=Y 0 =T = T3 4 -

Roll No.

2019
BUSINESS STUDY

Time : 3 hrs. 15 mins. F.M.-80
QUESTION-CUM-ANSWER BOOKLET
PART -B

(MARKS - 36)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice (a,
b, cord)in this box. For SAQ of 1 mark, answer to be written in the specific given space against each
questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O
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TefIagieles eniaen «ak g Teafelfes emiiwet
Multiple choice type questions (MCQ) & Short Answer Type Questions (SAQ) of (1 Marjk)
1. efsf e feg Teaefi ty (ate 70 Teal® @z Fea wFfts e ave aitw @t e

1x12=12
(i) ST @ FEE IFPAR TRKCHT IS 4| 27, ©f T—

(a) eFHeRd (b) SreiifTeae

(c) Toi=mia (d) IS Al ST AT

(i) @R FEER T JIPETE Fe—

@ 5% (b) 6
) 7% d) 8
(i) eI e ETo—
(a) RACE-FTCH (b) SR-PIE
(c) (a)€ (b) TeT (d) am @ADL

(v) oed @ TS3T T I/ GFg Ty 97, ©f TH—
(a) CTGEIF IR SRR (b) TEIF P Wi

FME vl Jia oI
(c) W@ A7 afeDitag (d) FEfT IIBeET T
Tl e Jfm 0 | S T I#53 Jiaw AR |
v) =T Sower Ze—
(a) Sfe FH e (b) wrore FE! [esEer w4
(c) SO 2o 4l (d) amF AR |

(vi) SRS FLFT FACO AT (@ RAET TARS «F@ AT, ©f 26—
(a) QAT Al (b) FZANS! @ FHAFR A=

(c) ST I I (d) 9R 77 |




DDKKHA [ 20 ] Business Study (XII)

(vii) IR @ @A FAF oy e (@ N FREK—
(a) SFF FAWE G (b) FfefT AT T

(c) TIZIoM FACE T (d) 9w =[S0

(viii) toa @ SIfAT TwieF w9, ©f Ze—
(a) “mErs (b) SItaAl IS FFho
(c) AT SRR ] 2wl (d) ARl SseRTeR AL 2 |

(ix) @ v @ I TFFge I8 —
(a) oopil @ eifem SIep SN 7@ 6@ (b) W @ S ST (FIK FA—

(c) «fSPim Seolifrmife Jfa wea (d) avE AR

(x) R e @l TR0 FREH I A7 I AIZNT—

(a) &N Ty (b) efswifas oy
(c) e Try (d) = <<

(xi) ea @ IR s @R T, o 7|\ —
(a) SfepIre! (b) ¥fiE FHR
(c) wfborel (d) Fefeerer

(xii) T UfER FOT WAL Zo—
(a) O ALFoFI (b) SIS
(c) F(FO(F *H HoAS (d) awR 02 T

2. fwfafie erfefem afeh «af e Tea wie (g erafer amedim) 1%5

(i) IR FS A2

Ted |
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RN
(TR IR ToF (T 2

Ted |

(i) 2 AR IS I @R

Ted |

(ili) (AR ke Fhe

Ted |

RN
e emie-9q oY e

Ted |

(iv) I eed Mo Srerwsie B Wi (1Y |

Ted |

1,
F fT4oacE Ade afen 390 =7 @2

Ted |
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[22]

Business Study (XII)

v)

Ted |

TRIEeIE STl IS @ 2 (2

3. afsf aree faog Teael™ Ty (Ats 7T Tl @z M vt Ao eve ATH @l ¢

(1)

(i)

(iii)

(iv)

(vi)

G IERE 2eT—
(a) CORIF ERE (b) T eI + Afefe

1x12=12

(c) G SEE + AfefS + RLCRIM del (d) R SFre + Afefs + @ el

S FE Tlfe ze—

(a) M (b) (It =g

(c) TEA® (d) SRR
ST SEifTRel 2e—

(a) I @Fel (b) IfesEre q=el

(c) e¥ L=l (d) 9w @ w7
fGie f2aria e a—

(a) QS TICF (b) siftze &2 FICR

(c) aiftzeanziz afsffia Firg (d) CRIF AT IR
(@ ALYl CRCSF (R A [Sreiifeni B Fie 303, ©f 26—

(a) NSDL (b) CDSL

(c) BSE (d) (a) 8 (b) Tez |
T Q@G eI AT [ BT 2o 2 1, o Zo1—

(a) LT 2R (b) R Bifzwl € (@l

(c) FoREIM Aofg (d) wifeF TRt
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(vii) (FONA Reiraa a1 Mova (@ Afsfoa Tea qhig, ©f 76—

(a) (Tl AR s (b) Rterel AR s

(c) T € e e (d) Ao Tifs
(viil) SIYHATI (@ (IR IIQT I 27 ©f T —

(a) SfCSPHSF (=TT (b) *RfPHF ETIA

(c) IMFERF (ETCIEA (d) amF @FCATE 7
(ix) wfewad, GIeTsTewad, EfeR Toi S Ifa Fa—

(@) CeFRIE (b) tea

(c) o= (d) ISR

(x) AT (Fol FHHET TS 2o ATTT—
(a) (TP (FET ARG FA (b) PRI FI
(c) Refmee Somed SR (d) 2RHHT e A SRS [EIFsife

(xi) TIOR (Fol T SMETS Al SO FhH 261 (Fol [ean feifea—

(a) >N B (b) SRSIET
(c) A B (d) G (FF02 7T |
(xii) AT FR AT JTosl A IS BANT G 23, ©f 21—
(a) ZoTF (b) TR, MF
(c) @w.fte. WE (d) eI
4. Tefarfie emafm ool «af ate Tea e (g emiefa arwdm) 1x7

(i) FEF TRE ASFE 26T oL 2

Ted |
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(i) IR TR R FiKT T2

Ted |

(iii) = TR GFlo ARl ST I |

Ted |

(iv) PR A TR e

Ted |
S,
Reatoita wio ARl (@72 |
Ted |
(v) R oeEa 9o et Sred 9|
Ted |
S,
AR BT FIEF A2

Ted |
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Business Study (XII)

(vi) (Sl T IO F @R ?

Ted |

RSN
(@Sl ! e SR (@Ol FA0 SRR (AT AFT 2

Ted |

(vii) (Sl (Ol SMETTST AT (R F© el 2

Ted |

RN
TSR (O FRHTET APTHE FIIFIET G T Wl ?

Ted |
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CHEMISTRY
Time : 3 hrs. 15 mins. Class - XlI F.M.-70

QUESTION-CUM-ANSWER BOOKLET
80T 0 Lo (=Y 0 =T = T 4 -
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Registration NO. : ... Year: ..

Part-A:

Part-B:

Total -

Marks obtained

Examiner’s Signature Invigilator’s Signature
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PART - A
(Marks - 52)

1. RefEie emafes Ter wie : (Reg el wwam) 2x5=10

M
(a) (Ej BURRIRCCIC (1\%0) KCl B30 SIfesa 51 & T Ra—pi <641 |

Or,

100g @feta (I ©fbe TRERT AT 2g TIge 0 (@G 2% SR 27 0.5K O 0%
AR AR SRS ©F F9 2037 (K, = 5.12 K kg. mol')

Ted |
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(b)  SCHHI FNETPIRCCS S FHACNENT NaCl SC2l AICL, (I S5 {5 Fe,0, 0T O TR
AICL, ST Na,PO, @ SIS &2

Or,
SRR AeT FNCANCFIRE AeT o ST B (e 2
T |



DDKKHA

[4]

Chemistry (XII)

(©)

(i) XeF, SI9T® Xe 7 R ST (71X |

(i) NH, ¢ PH, <31 N0 (I T 4 (M R (el 2
Or,

(i) IC1 31 AT 1, ST @ (o 2

(ii) e 7 $9 XeF, + SbF, —

e |
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(d) [Fe(H,0),[" ©foa1 SR (@R 2RI AR O], BT 4 GR (@G 4 (B
Qe el 31|
Or,
ToR@ AR M2 |CO(NH, ), Br| SO, @3 |[CO(NH, ), SO, | Br @7 ey #itefy ey 33 | (ot
ulb el RSl (R ] (51—
T |
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() e AARTRARHR CANFT N € FF© (FI—
(i) (6Rfe™ (i) Buna-S (iii) frefes (iv) PAN.
Teq |
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2. v emelem Tea wie : (Reg emefe semam) 3x9=27
(a) G e (RIS TR (T 9107 FCI M (TR ToIg 89/cm? G T (FIIT AT 7l
250 Pm 2 O3 (b SNART @Fg GRG0 A G ey <o | 3

Or,

() 0 & @b (AR 97y g I &,
(i) P52 Siifqaid) feeita e 20 @3k 33 ARRIEret SrowiFe @ (e e 14+2=3
e |
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b) () CE K, =0.515 K Kg. mol! JeTCe I (I 2

(i) T 18g 2LFIG BAT® I 500 ml T (o<1 T 20 (72 TRe(B 27°C TR TSR Sty TaeR
B SBCAICHIF 27, TR G0 9oy gl ! G e 4| 142=3

Ted |



DDKKHA
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© O

(ii)

afb 41eT ARTFS T 3 T 0.5 am ©GL2IZ 1 hr. 40 BIEl FCsT FICACT 0.59g 4P A<
23; O A9fba oSl oo w4 |

TRCER 9N0E I (106 OIF S RTERT TG s sifkaizrel I i g (e sifzaigrer 2o

R (2 2+1=3
Or,

Tea (@FRED (ACF 2w SR (T Fo FoR SAle AWE— 3

Mg | Mgl | Ag'ua | Ag (E° ., =236V @R E° . =+0.80V)

Ted |
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DDKKHA

[11]

Chemistry (XII)

@ O
(ii)

ool ©P AGOTe SHIFEE BTl (51 |

FAIF G (AT FAIR FTHRT Si 0, @ BRI (=12 |
Or,

PR BECS (ol s g Rieief @)

T |
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() () Zr (z = 40) 4R Hf (z = 72) 97 2AIANRSF A R A9 (o1 2

() Cr* @Rk Mn* @3 d* TEFe [/ ze O [Reiks @ Mn®' s (@ ¢ 1+2=3
Teq|
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® () PR S MR (@R e Y [k 27 @ e
(i) FEREE R @GR @FRReE IR [ am Form 52 Fa3?

Cl

(i) CH,—CH=CH, W A & TUPAC 9IW (=74l |

Ted |
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@ () e ITAtoD: Vx4=2
OH
Me, SO Br,/Fe
(p) S — B
NaOH
CH,OH
CH,N, NaOH 5
) 2 CH.,I
OH
(i) BT T A ATHECF [FOIT 72T FAE? 1
Or,
AT 9 : 1x3=3

@fea — e, FAET — n-Caoli=e, @fga — Suifeene

Ted |
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DDKKHA [ 16 ] Chemistry (XII)
h) () TSI IFT — ARG — TRCGIIGT
(i) IS 9 3 Vax4=2
)
|
alcKOH C,H.I KOH
NH > A " > B »>C+D
A A
O
Or,
NH,

() e 9 ¢

CHCI+KOH LiAlH,
> A > B
CH,I

() 3BT opifd @2 SHFGMEIET W0 (@G FEIE ol (@R @R @2

Ted |
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G) () TICHTAHT Io0e F @RE?
(i) 2EPW @I SO T (@0 AT G (e ? V5% 1%=3
Or,
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() DNA @ RNA @3 S(INIE @5 @ferd 7«1 F 2
(i) SPECE (TR TR R T FI 2 TN 72 (@14 |
e |



DDKKHA

[19]

Chemistry (XII)

3. fefiee emefem Tea me : (e erefa srmd)
G3T> R %7 TR 20e1e €7 SARTel & ¥« TN 2037 SN (714 |

@ O
(ii)
(1)

@)

(1)

G *Ecr [ oify sifdfss weita afewr w91

320K T©RI N0, ¢ Remen i ze—
2N,0, — 4NO, + O, s wY&fey (At orte @ [ dem wom —

3 (min) 10 15 20 a
AT O (ml) 6.3 8.95 11.4 34.75
Or,

5x3=15

1+2+2=5

Tewl 27°C (AT 10 O e T A + B — C 92 (fer RiGw @9l 10 wel Jia #4171 [ig=ita

AfgTeael wifed T o7 91
AfFraad #fe FIF qceT? @RI [ 7|

O35 RiFI 29 &3 59 1.2 + 102 mol L'S™! 3ta RiFalg o o2

Ted |

2+2+1=5
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() @) HClO,, HCLO,, HCIO, HCIO, (& 5! Jad T SPita e @3 A1 34 |

() SO, =il Rag= szl g Cl, a=l Kag= 2= (& |
PH, 5P CuSO, @F Sl TACe Bletal Facel i =03 [l wie |

Ted |

DDKKHA

(i) 242+1=5
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Chemistry (XII)

© O

A& FT A - F ¢

CN
SnCL/HCI KCN
(p) > A >
C,H.OH
COCH,
I,/NaOH
(@) —— > C+D
OH
|
T CH Ba(OH
® cH, - cH-cH, yp 2O, o
300°C

Ted |

Y2%x6=3
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Chemistry (XII)

(ii)

()
(ii)
(1)

O

I
(P) CH,COCH, —(CH,),C =CH~-C-CH = C(CH,),

(@ CH, CHO— CH,COOC,H,

O O
O

(s) CH,CH = CH - CHO —CH,CH = CH — CH,OH
Or,

AL (@1 ¢ SPTEE @R SIFrefezEe

TR e ¢ (RAENS [

TG I ¢ FAACCIRE —> SHIPIGE

T |

Yox4=2
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(v) @30 (ST CTCoF W (12 A @3 A WfeF @R [Fege «f g | 2fol 4osfa Twigae wie |
1+1+142=5
Teq |



PART -B

ES 3 0 Lo L= L AT N =T L=
Roll No.
2019
CHEMISTRY
Time : 3 hrs. 15 mins. F.M.-80

QUESTION-CUM-ANSWER BOOKLET
PART - B

(MARKS - 18)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice (a,
b, c ord)in this box. For SAQ of 1 mark, answer to be written in the specific given space against each
questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | e
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O
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PART - B
(Marks - 18)
1. fTog Teaalerm vy AtF 7S Teal @1e ¢ 1x14=14
(i) N @ (@A MR @s il eI Tu—
(a) SR (b) CBBITANIET
(c) MAFH= (d) TIFIFIF
(i) R, X, Y R Z qrosfer Ramd eg @0 0.71V, 1.2V, 0.5V 93R -3.0V 20 (@Five Kol
el
(a R (b) X
© Y d Z

(iil) T SfHeaRe efea (Fa ey 98—
(a) AG<O0 (b) AH >0

(c) AS<O0 (d) AH<0

(v) = o [esifre = 91—
(a) PF, (b) SbCl,

(c) NF, (d) AsCl

V) G SRR Ty B9 Tee—

(a) Zn* (b) Cu*
(c) TI* (d) Cr**
vy 7 > (ol fonfs SN Rifeeaia i @ ze—
Cl1I, CI 111,
@ () > Gi) > (i) (b) (i) > (i) > (i)

(c) (i) > (i) > (iii) (d) (iii) > (i) > (i)




DDKKHA [ 26 ] Chemistry (XII)

(vil) (P TG T2 2B 3R TAgo W—

(a) ¥« H,SO, (b) HO
(c) & NaOH (d) =19 HCI
(viii) (FED ToBAR—
(@) [PbCl,]* (® [Pb(CN),]*
(© [Ni(CN),]* @ [Nicl ]

(ix) (A NaNO, / &g HCl 4R =R (Fetata A0st [ 165 smidf Sesi wea—

N(CH), NHCH,
0 Y Nos

NH,

H,NH,
© @ ©/C

CH,

(x) N RPRE AR TS AL T SHPTes ALy [ =1 29—
(a) COlte R (b) NaHCO,

(c) FeCl, (d) ol wae

(xii) D @FH ARETF =P —
(a) &Crer (b) T3S

(c) TURTOIE (d) e

(xii) % 9= oAfrermiEe sifermm—
(a) (Gffe (b) e

(c) IR (d) RFEIZ5




DDKKHA [27]

Chemistry (XII)

(xiii) SpEfaTaR AR N—

(a) AR @GO (b) feEs ezt

(c) SHIFbEe FMifernzlm Spifte (d) 2=FS AP

xiv) T Ffaw FEFEE —
(a) FFOS (b) ertene

(c) e (d) CreceTe

2. fwtEiie anafm Tea we @ (g awiefe srmd)
(i) 1 a¥ AP JECTE S FAT G/ FO ?
Teq |

(i) wifss vfag Jfaw @ Spiea sele CrO,, CrO, Cr,0,,

Or,
T G Cut S SrgEl (el ?
Ted |

CrO

1x4=4



DDKKHA [ 28] Chemistry (XII)

(iii)  &IT-SPRIRCE FERT 0.15 0o F @RI—
e |

(iv) TooR Scafes Fie @7 /2T @Td—
T |



DUM DUM KRISHNA KUMAR HINDU ACADEMY (H.S.)

HIGHER SECONDARY TEST EXAMINATION — 2019
COMMERCIAL LAW AND PRELIMINARIES OF AUDITING
Time : 3 hrs. 15 mins. Class - XlI F.M.-80

QUESTION-CUM-ANSWER BOOKLET
80T 0 Lo (=Y 0 =T = T3 4 -

Class : Xl Y=Y 1 Lo o T ROIINO. ...ooeiieeiieiereerirssssssssssssss s s s ssssnnsnnsmmmnmsmmmssnssnnns

Registration NO. | ... e | (T 1 .

Part-A:

Part-B:

Total -

Marks obtained

Examiner’s Signature Invigilator’s Signature



DDKKHA [2]

PL & PA (XII)

PART - A
(Marks - 44)

e—=
1. fmfEie emufm Tea wis : (Reg emof wTsam)
(a) G SR FIAET IR LN iRy 511

<,
GG SAMIA! HeTe AT PGS 27 G (@ (FF G K77 Srad 74|
Ted |

4x8=32



DDKKHA [3] PL & PA (XII)

(b) 3fifers ofe e B T @ @I SR Al Srae I
Taq |



DDKKHA [4] PL & PA (XII)

() @b BB AT @I BT IR F#ICF D A |
IR
Jifafens 2fe ¢ efoxrfositaz stey bR Ay @ |
T |



DDKKHA [5] PL & PA (XII)

(d) GREIN @ TIfGIATF [y 2NLF A |
Ted |



DDKKHA [6] PL & PA (XII)

() R FarwE @ bR R Srad 74|
S,
PRI PR @I BRG] (519 |
T |



DDKKHA [7] PL & PA (XII)

6 Tod [ErwE FIe wF IR A [REAs F900 27 @3 5T K77 Sradd 4|
Teq |



DDKKHA [8] PL & PA (XII)

(@ & =zsfifm seve @ sl Kag Srae 391
<,
fRRmiRes o e P SR Srwely SC=bal |
Te |



DDKKHA [9] PL & PA (XII)

(h) Terel AGRFE (SIEMR) 97 @ bR e Trad 741
e |



DDKKHA [ 10 ]

PL & PA (XII)

2. Fefie emefm Tea me : (Reg erief smvam)
(a) SRAMEAWE @I foid SEFF @ foat g STeAdN Tl |
R
GFT> SAMIA! PRI TR SR SN |
Ted |

6x2=12



DDKKHA [11] PL & PA (XII)

(b) I R Sl SAICETbAl 4 |
o,
rglel WA ¢ AR W e A1 @ |
T |



DDKKHA [12 ] PL & PA (XII)




PART -B

80T 0 o (=Y 0 =T = T3 4 -

Roll No.

2019
COMMERCIAL LAW AND PRELIMINARIES OF AUDITING

Time : 3 hrs. 15 mins. F.M.-80
QUESTION-CUM-ANSWER BOOKLET
PART -B

(MARKS - 36)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice (a,
b, cord)in this box. For SAQ of 1 mark, answer to be written in the specific given space against each
questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [13] PL & PA (XII)
PART - B
(Marks - 36)
1. 7% Teal @z frn oeiwe S eve At et 1x24=24
()  ~ifzrw W& 2o —
(a) TS IR (b) I I
(c) CTHE IR (d) @z 7
(i) ofsaR s ofs (@ Af DT SRMICTT JETRT Fa—
(a) ~ifsara W (b) Rifsm sl
(c) TN I3 (d) Aifes s
(iii) The Cost and works Account 30 i 27—
(a) 1913 el (b) 1956 AlCeT
(c) 1959 s (d) 1961 e
(iv) T4 WFs AR FE FERIE wFel ¢ Sifvtse] SNl ©iol FH e &
7 ST |
(a) FEmrm =] (b) & wfAv@
(c) farsim wizs (d) & @532
(v) R e wF FAF e W Tt vE [—
(a) ITOETF (b)
(c) aftzs (d) F=He =
(vi) fIarFeR wiEe AgEere IFT TW—
(a) 2 (b) 3
(c) 4 (d) 5
(vii) (T TG (@R R e A1 R (@R & IS AR 2

(a) B (b) 10

(c) 20/ (d) @02 T




DDKKHA [ 14 ] PL & PA (XII)

(viii) IR EW @I sl Raw @ WA (A0F IM T 20T O (T T (oSl FA0e 2/—
(a) Famwm ! (b) & efstawe

(c) TR wizs (d) Farw=

(ix) MR FTorel AGIZFS 21—
(a) T el o< (s am e |
(b) N EmmEaler aiifdfes waet R 1|
(c) WM &R LN=@eler AHEFICERT IS |

(d) g T

(X) SIerSd SIehR TH—
(a) ST Ihm (b) SILemitag IPW
(c) T Blet (d) @2 =

(xii) 217 |WEF @R O O (72 TIPS SISHIER ©ifad—
(a) FEmiE 9 2 (b) IR 72T T

(c) T T 7F 20O A (d) 97 F=HE 7

(xii) (D SICHR T—
(a) ST (b) FHTICIAR «fofer=

(c) T2 (d) Bree

(xiii) SRS DKM SAZAT (I AT DA ARI 2l I ZCAR—
(a) 6 4=l (b) 4 4=

(c) 14 @ (d) 69 @l

(xiv) T SRAME FEAR 2GR Sicxiezd I 1, TG IR IR 20ET (2 JAFE SH 2/ 3%

S ZCA SRHCS! AT IZ FCI, OIF AeA—
(a) Aew M (b) T -SAMIF

(c) IARFTSIN oAM= (d) R =idimE




DDKKHA [15 ] PL & PA (XII)

(xv) SRAMIS BfE TN (FE Sovw @ [IFeT Ao —
(a) foil® 209 23 (b) SHI~RE 20® A

(c) fafRe 2re 2@ (d) ¥ R4

(xvi) VSIS AleTe RANI (FIA0 9167 T qI—

(a) G (b) (G et
(c) Teferes eans (d) (oI STGIF
(xvil) ILNG G GFD WTE AT TLAMAT —
(a) e wiom me =3 (b) *SIF S (e 2
(c) Tes efswsfs el 23| (d) *roFw afoxrfe rexl &7
(xviil) (bF (IUFF FACO ANCT—
(a) T (b) «=F
(c) TI= (d) T2
(xix) @ e TH =S AT, @7 261 vlecea—
(a) =TT (b) «IF
(c) HFfonrel (d) PR 45 |
(xx) G efcefootg Toge YR 5=l TNt —
(a) SLTIG (b) aftzs
(c) TNLTOITETH (d) RO CHCa AT |

(xxi) RN Cwg [tadrel A [RE#QSE T 20 [uisig /% 56 @ A ©itF e T7—
(a) il (b) =7

(c) &r=z= (d) 9T @F=0E 9|




DDKKHA [ 16 ] PL & PA (XII)

(xxii) Recten =i "= ewea—

(a) ST (b) Fifefs
(c) SRS (d) 9 &0 77|
(xxiil) ANASF &7 JIZF F TW—
(a) GRARNE CFCq (b) wifa Reliw wea
(c) NR=F @ (d) =0 Fa
(xxiv) FHRR® @0 [ Sifer sresfe a—
(a) W IR dife (b) RmItgR Sife
(c) efowtas s (d) TBWEF AIfo
2. fwfefie el Sen wie ¢ (Rag eMiafa smdm) 1x12=12
(i)  FrT=VE GErEE kel we |

Ted |

(i) fess R 7o Soml o2 |
e |

(iii) farw Fi2e I AT
e |

(iv) I ASEE IS A2
S,
T SRR Yo ANRES! (@7 |



DDKKHA [17 ] PL & PA (XII)

Ted |

v) @30 (Y SO (@I @I @ o7 |
S,
SreEe SICHIE FIF A 2
e |

(vi) TTTEIeS SS9 @ Serel BRI @b AL (@14 |
Ted |

(vii) SRAMIE FIFAF FICF A2
e |

(viil) STR= SRAMF FeT0e F (@R
S,
M B Feme [ @R
e |

(ix) TSI AT 2PN IS A2
Ted |



DDKKHA [18 ] PL & PA (XII)

(x) UL P A2

REIR
FRIES BT FF ACET?
T |
(xi) ‘Causa Proxima’ *f0q 91 [ ¢
T |
(xii) AT FL FIF A2
REIR

SV Ree Iece F @R
Teq |



DUM DUM KRISHNA KUMAR HINDU ACADEMY (H.S.)

HIGHER SECONDARY TEST EXAMINATION — 2019
SANSKRIT
Time : 3 hrs. 15 mins. Class - XlI F.M.-90

QUESTION-CUM-ANSWER BOOKLET
80T 0 Lo (=Y 0 =T = T 4 -

Class : Xl Y=Y 1 Lo o T ROIINO. ...ooeiieeeieeereererssssssssss s s sssansnssmnnnmmnmnmnmssnssnnns

Registration NO. : ... Year: ..

Part-A:

Part-B:

Total -

Marks obtained

Examiner’s Signature Invigilator’s Signature



DDKKHA [2]

Sanskrit (XII)

PART - A
1. freferiie epafee Ter we

QI
(@ @ q&0)
(@) SIRfRCeR Il 7 |
(b) ez vlcax Ros=e 32
T |

5x4=20



DDKKHA [3] Sanskrit (XII)




DDKKHA [4] Sanskrit (XII)

A
(@ =W 93b)

() “MFTIIGY @ NA(F (TSI I TN Z(ACR © W& SR I 77 |
d) ©RE AFw @ FTH FHRTRT I e ©OF {779 e |
e |



DDKKHA [5] Sanskrit (XII)




DDKKHA [6] Sanskrit (XII)

«optes
(@ =W 93b)

() (I viag foae 74
0 IAEF TN 99 4 foqfd @it o e o @12 |
Teq |



DDKKHA [7] Sanskrit (XII)




DDKKHA [8] Sanskrit (XII)

Afzrera e
(@ @I 9FD)

(g IS ©RTea sifosst 7=t A 2= a5 37 |
(h) AMSCANRWY 7T(F G0 OIF &7 |
Ted |



DDKKHA [9] Sanskrit (XII)




DDKKHA [10] Sanskrit (XII)




DDKKHA [11]

Sanskrit (XII)

2. SRR F9 1 (@ (FF 9F0)
(a) ©PICS| FIHFe| T AN 7z |
(b) (i3 PJSrSCTls I = Bl T3
YOS IR T G @retee
Ted |



DDKKHA [12] Sanskrit (XII)

3. fefeiiee epjefem Tea s : (@ (F 9&(5) 1x3=3
(a) Wofie Rrefs ae=s |
(b) TP i e
) To5FFe ~Altne 2gs |
(d) T Fles |
T |

4. FHERFFR T [ w0 (@ @i ab) 2x2=4
(@) St
(b) I

(c) MIFET]
Ted |



DDKKHA [13 ] Sanskrit (XII)
5. Tafeiie =Rmerem «ide ot 392 (@ @ 9b) 1x2=2
(@) Tnfe (b) T (c) T340
TS B Bkl
Ted|
6. 9T AT FCA 2 (A (T foaD) 1x3=3

(a) TR SASR A
(b) <RI ST T A |
(©) * FAMS |

(d) oIy 29|

T |



DDKKHA [14] Sanskrit (XII)

7. ~AERe @ @t ¢ (@ @W foab) 1x3=3
(a) T + TP
(b) =T + AP
(c) = + T
(d) o+ R
T |

8. (T (I GFb THF Teq WS 3 5x1=5

() SO SfeRE [Kfey Ba 7T0F FCebal 34|
(b) (FIN € WO THCH AT 2 el ¥ |
e |



DDKKHA [15 ] Sanskrit (XII)




DDKKHA [16] Sanskrit (XII)

9. ATHS AW T4 8 5
T AT GF 1fHE FIF A7 T | OIF 12 HSI et | (7 A Fpitet fWeea (g b F90e @9 | (37
S[OTE AR € FE SR TS | GG ST AR OiF Y7 €7l T |

S,



DDKKHA [17 ] Sanskrit (XII)

Al ST SIS ol Ao | fof weiees «j@ forer | Ol 218! Aol &< e S0l e | 13 [
ot 239 I | AR T A e |

Ted |



DDKKHA [18 ]

Sanskrit (XII)

10. (CF @) @ AFCe 725 7o T ¢
() S o Ee
(b) ¥ ferge & |
(€) e |
Ted |

5



PART -B

80T 0 o (=Y 0 =T = T3 4 -

Roll No.

2019
SANSKRIT - B

Time : 3 hrs. 15 mins. F.M.-80
QUESTION-CUM-ANSWER BOOKLET
PART -B

(MARKS - 26)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice (a,
b, cord)in this box. For SAQ of 1 mark, answer to be written in the specific given space against each
questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [ 20 ] Sanskrit (XII)
PART - B
1. #fo% Teald f4ion =7 ¢ 1x15=15
AmpiA

(i) CHRITR de IRl
(a) AR (b) ceTIfe=TR
(c) A== (d) =Ife

(i) =™ @ /AR (F?
(a) fafqared (b) aNareG
(c) e (d) ==RmR

(iii) wfersidia areim s 2
(a) TS (b) Fali
(c) APTS (d) F=i7l

(iv) BFRST *twa o {2
(a) S o= s (b) SETCAHR ST
(c) BEmee= sikst (d) SoeE I%

AT

v) =3 (e Raifdfa—emiba @ia e =i
(a) A (b) fsru
(c) CHIES (d) =

(vi) ‘AN SORMANOIR (I ST S ?

(a) SR S (b) e s

(c) v (d) O S




DDKKHA [21] Sanskrit (XII)

(vii) =T I — G IR (2

(@ &g (b) =i
(c) femifirg (d) «rm
(viil) TaCE FF @ TS (F2—
(a) &R (b) ST
(c) I=F (d) T Fa
Qi)
(ix) IAETIAN @7 AT FIT 12
(a) Z (b) Zaperstt
(c) Zesfi (d) et
x) T Awa oL Fi?
(a) g (b) SR
(c) ifersn (d) eI
(xi) A G TWAR—TNT (F?
(a) FT® (b) =W
(c) A (d) =M

(xii) THIA CARRR N [F2

(a) Gl (b) F Tl
(c) ZTwwel (d) cTwifsre
Aiferea 2fozm

(xiii) =fsu 63 I TH1—
(a) e (b) =™

(c) T (d) FeBE




DDKKHA [22] Sanskrit (XII)

(xiv) eoifife Rz &b e 2

(a) STBBTZR (b) wFLE
(c) HES] (d) 9@ @F=0E T
(xv) ‘SlCCeTEes 3 RUACHT N (@122
(a) JTem (b) TTE
(c) My (d) oA
2. AT Ted wie 3 1x11=11
AwpI
(@ = foafo)

(i) ATy —a3 5L 2

(i) SIERCST A P SRl 2

(iii) R q@t — Ris *tam =il 2
(iv) TaR@Tes uib e Ffoa (=127
Ted |



DDKKHA [23] Sanskrit (XII)

AT
(@ = fonfB)
) T e
(vi) Icfay =0 e & e
(vii) IR TR 2
(viii) o1 vo elfexw (o1 |
e |
Rkl
(@ @ fenfB)

(ix) R dfs Tpaia & o =ee

(x) TR TFE A T —FiF ofs F9 Sfe?
(xi) IIMEF FAT A I OF AT ?

(xii) W =TT oL 2

e |



DDKKHA [24] Sanskrit (XII)

Afzre 2o
(@ = 45)
(xiii) SR ANATTF NPT T (&7 2
(xiv) CTIMCS T (I 2[0S I PO ?
(xv) B3 @ [EeEE sfew foeme
Ted |




DUM DUM KRISHNA KUMAR HINDU ACADEMY (H.S.)

HIGHER SECONDARY TEST EXAMINATION — 2019
BENGALI
Time : 3 hrs. 15 mins. Class - XlI F.M.-90

QUESTION-CUM-ANSWER BOOKLET
80T 0 Lo (=Y 0 =T = T 4 -

Class : Xl Y=Y 1 Lo o T ROIINO. ...ooeiieeeieeereererssssssssss s s sssansnssmnnnmmnmnmnmssnssnnns

Registration NO. : ... Year: ..

Part-A:

Part-B:

Total -

Marks obtained

Examiner’s Signature Invigilator’s Signature



DDKKHA [2] Bengali (X1II)

PART - A

etn—= (9 7799 - @o)
S| TEEF d@o MTEH (@AH TN GFb AT Ted wie ¢

exd>=¢
5.y “Fp AR EeE St WyE s Sifs w4t A, e Gt 28 Sfews | — i A s 960
T I JRECZ? @ RIE OF BYSREA F((F (ST TS SN FCA | +0=¢

5% “g AL 11 g2 b 0! PP Mo 1” —ate! B e oits o bfitas S« e
2

Ted |

0+8=¢



DDKKHA [3] Bengali (X1II)

2 SAEF Seo WTH (FHIA! GFD &ATHF Teq wie ¢ €x5=¢
3.5 “TIET IR G SNl wiFfen W& ARG G FRC AR EEes Jo St 17 — R

IO SRETH TBHF Wizerd @l | @




DDKKHA [4] Bengali (X1II)

2R TR P FROR Ao G SSICE S&IK! A0 (F AW SR 7w bfae zrne
SCADST FCT | @

Ted |



DDKKHA [5] Bengali (X1II)

O ST S¢o MTH @I aF(6 ATHF Teq vl : exd=e

©.3 T SIfGTT (AT SNEEPoIee AET STor® SHglTe 203 S Sl IR |7 —SNZCS=Poi
A2 (2 T DI Sfemy (e SwPre 2RifREr e (1 Sifery ey fofd 9t forctes ¢

05+5+HO=¢



DDKKHA [ 6] Bengali (X1II)

©.3 “«B FAfRTeR ARG G 2B FIH T (Al SN AN —IS N I3 TICIF T S
AT | @

Ted |



DDKKHA [ 7] Bengali (X1II)

8| TEF S0 WH FTHCA G0 ATHF Ted WS : exd=e

8.5 /TS T I3 IF TGLAA 2’ FIIO| SEPAICE IR 2TOZPIEOIR S ARG #1S R, ©F ACAB!
Al @



DDKKHA [ 8] Bengali (X1II)

8.3 “(BITAT S0 OIHd Tel) —G| BIVA Gelf (BITAT To B9l IFCACEA 2 (T Toely IS (BITd &
GTAMRE (2 ToI6! AT el | S+8=¢

Ted |



DDKKHA [9] Bengali (X1II)

@ TEEF SCo WN[H (AT GFH AT Ted 7S : exS=@

€.5 TRl U6 e T SR SR Vel |7 —dE SIKeld A FSIC ICGCR O SICaTlb]
Al 4



DDKKHA [ 10 ] Bengali (X1II)

€.3 (PTS IR 2T I (T SAR14E TR 60 2wl T — (E7RF QI PIerd S A0 ?
SR 7TATE G (@ A IS TRE0E ©f W s SR SiEn S| 3+9=¢

Ted |



DDKKHA [ 11 ] Bengali (X1II)

V| TEF SGo WX FTHTN AFH ATHF Teq wie : exs=e
L.y THEATTE BGRT AT 7S | €



DDKKHA [ 12 ] Bengali (X1II)

v,y % SRS 9o P CrE Sl | W@ ARTE 2yl fonih A SwzRente SIEbal F |
Q+9=¢

Ted|



DDKKHA [ 13 ]

Bengali (XII)
Q| SIS S¢o *HTH (I 46 AT Ted wie : @x3=50
A.5 G M AR TGN O] SN S92 ETAS SIRWIe ST FCA | @
9.3 ‘o5 Wwiog e Fl2 @2 RE TS SCeAn A | S+8=¢
a0 JE HeIfbg AR s W% A TOIfere ATH SWMIT FTATE ST FCAl | «
1.8 el R@mem ¢ RempbR 28t @Ot SFRANGT S[m SCEbel FC | @

Ted|



DDKKHA [ 14 ] Bengali (X1II)

Ted |



DDKKHA [ 15] Bengali (X1II)




DDKKHA [ 16 ] Bengali (X1II)

v fFefe @ @t b en Feioa St Mot sepita Fat 8oo =t#a sty a3 e 961 FCAl 2
Soxy=%0

vy TS0y one Mas-ebe SRerE O 27w o I ¢

vl (e e wae o7

Cr*ceN 8
TEA
SIFeaA

RIRICIo
S(CWIeTe 8
e

ot G

fitwal @

v} UG SRS AIA] A1 Sl 212e S KA Sl 2t S sAfeifonicara qaes @b
sjefiet 2/ qoal A ¢

s
ACHFRS QIR 0 GT© (3G G 5I ol (A 9 M DIPIER & 06T (AN (@[ATS AT
1 | SR 03t A MSTO| O AFS ANHNeT VA1 | SO Teo] IR A Jro! Jrol TP el
G- AT SIEPIR T (BB FCACZ, TS FRCR | A SRR Feyel ©F 7S O[3 ol
AR #ITF, G| IR FRFRoF NS 267 | 3 FLA A | FANS S 8 T =iy |
(101 200r ¥ orwsfe R yiRewiel, AR Siifeee oeels | @2 feferie T eie Ame 999 6
fefcet, @51 W0y (@ AT o (o |

v AfSHTR e TPl el FE FACTE YE@n [ S 295 o=l I 2
frerda Rz ¢ AR Al T AR GG A 7 |

ACSF ATH ¢ AT 2l T9 AT R AW g el 2ere SRk dfofrs zeam oFg
O ST S A | A e A ol TSR IR SRE &g 2N Te ©f MrEmdiom
IR AT B9 93 FC | e SRl el q1 (AT O MR G A0E SR € 2o 2
SRaifea Praites MR 23 | SN Tits [ifen cwig efsie s sas S it St «iSmE
AR BN 2T a1l M e e Foi 5 7 (FF(a SN SI6i FCACR | A1 S O * Coreifzar




DDKKHA [ 17 ] Bengali (X1II)

A6 3 TRPiE TR (2 Rl QIRiT w731, fRPig SierE 207 | SA1oBiaa SsE Sired B0 (@ JEE
eeleR KElfere FEFRits (12 Jfes FM (0P Afee 1 M 2oFo Somel) =17 | S8 2[R 2id 999
QIR (¥ A 6T 1|

b.8 oG Iq ¢ O SFTH( GH(0 AT o+ A 2
FfQ T o
T ¢ S8 BHA o Ao, AT, Tl
forel & sy cotraist, ol Reandt Rzt
2l FRO! o1 ¢ SO-38 I&I TG |
AP T ¢ AR, ARy, ol |
YL FRY A &g ¢ TP, Aod AAverE
HTHE 2 Ol — GRIRTR AT |
AlfEe) SHFCH — “oN9fell (ORI F
for SR ¢ FRmAL € =g T
Sfefie 275 ¢ SITelT SRl W (2050), Tl A (205)), IHRAGI (2052) |
THAA ¢ TMR (AR A, % @ ST, (TTRRF T, IOFO 2o |

FR2AY ¢ SNERT B, AT, TG CII, YRR AToiret |
Ted |




DDKKHA [ 18] Bengali (X1II)




DDKKHA [ 18] Bengali (X1II)




DDKKHA [ 19 ] Bengali (X1II)




DDKKHA [ 20 ] Bengali (X1II)




PART -B

80T 0 o (=Y 0 =T = T3 4 -

Roll No.

2019
BENGALI

Time : 3 hrs. 15 mins. F.M.-80
QUESTION-CUM-ANSWER BOOKLET
PART -B
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curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [ 22 ] Bengali (X1II)
PART - B
fTetn—a (71 799 - 0o0)
2. wfs faegl fdiom =t ¢ 1x18=18
3.y ARe o Giket Freita Fi6ics bie
(F) T2 2ICT ST 96! HBEAl AT () FN g5 AT I
(o) e wawl S (}) SPTE G (ARG 6
SR IOl AMTCS (S =K (RICE (RCET G G (I BIet Al 232
(F) Mre=s () TS
(9) smreRifet () FepoA
S0 “Ofle (Ol GIHIF A g2 AT WG == PIRRes” —@ =53 Pifze e
(F) TeE] (14 (*) R waIfe
(a) Tz o () ©6bIE i3
5.8 YO Bl I Al ILA | — ISCO ([QRICA TCACR —
(F) FfoacT () IO
(s1) FASCH (@) GRAF
S.¢ G SifeT TmeEd e 3meiE Srel— I e
(F) IR MR R () ST R
() ST AR 3R (q) TR QRGBT <]
S WRIF O FROR (S SRPT SR =< G o7& (S Al w1 RREe cow—
(F) CFINET FHICA (?) Ffew FHE
() & AR () Wee] AFICE
5.9 FE YET INYTT G FIGATET FAN—
(F) TANT FCIT GRS () AT

(s) ‘@INE e (®) ‘CIF Ny YF FER
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S,

Sb TS Ae—@T [F INWAICLT oM 2007 FfF2” —aN0 2
(F) SR A Fge Tt (}) SN SNE e’

(3) ‘@ TR SN () TSl T (AT

“Farewell the tranquil mind I farewell content !”—SG(e{b &1 T Te—

(F) “STACE (*) R

(o) “fecfersr’ () ‘M 78]
S5 SGElfE TNl @RI steAl IR—

(F) oA (}) Tl

I EE (®) el

S.50 T v FOF [y A |7 — we” AT oL —

(F) Tl (*) o
(o) =g @) e

5.5 Tl 9Nl ST T2 FARCT—
(F) I e (A) @ RO
(o) e GBIE (F) oI TR

v.03 Reeme fefiredtas meite il SiFra swel’ 2f[iba w8l (72—
(F) el (}) MR JeigR
(57) SRAGAIL S (q) (ReEm TG

3.59 OO g 4N wWHhadF &2
(F) o 1 (¥) AlfeF 9o

(o) ERIETE (T (q) s g
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S,

S,

I [P0 (AeTT LB FCIT—

(F) ARG AR () s 37

() sl a9 () > fa
.58 TEANETE SRIRGIER AGA® FARCETT—

(F) T T (S (}) CIfer (A

(91) ST HLBI=N (}) A A
S.5¢ O (GNAR FALI—

(F) ©ofb () ©sfo

(o) o8 (7) oufB
5.5 XL TEPANCHAT ©GLT AT BCeT—

(F) IF GBI (?) cofe o

(o) (ofow fFhie (F) (OIS (SfowH
.59 VARl GEANR A FRSIT (I FIGE (AF B0 ?

(F) SISl e’ (R) FE F

() ‘4NTFS (A (q) ‘TAelR FIIT SRS

SO GO TC T | FAM IR —
() =@l () =M

(5) et (@) el

e’ AcHva SReeRel ze—
) T FE w5s (¥) IAWACLT AT

(9) fatsm@eTe AEF o (@) =g ftgg ats
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505 TERACE 0 A0 AGre (& o GrAlee e
(F) ©& bIFd (*) oifgs
(o) () (R ISR A

3. AT 20 =t emiefem Tea wie |
SISO R IS M ICRICEICT I
T |

o<, ‘Aspects of the Theory of Syntax’ 2TZJ F6fTe! (F?
Ted |

2.3 YIS GO (F 72— A5 ?
Teq |

1x12=12
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2], “oIE0] A PAT SFARNCOES YA |7 — (I 9 T2 IeT 2CACR ?

e |

20 B AMEN FE ACR CRFAFRT AR 22 2

e |

2.8 YA G O G QIR —F GRACE T SN N FCACRA (P 2

e |

2.€  “ORPID TR MRT MU —GF [GAL F 2

Ted |
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Y WS qEACAT WOl” —ANCSA qeFY 2
T |

A I @R R IR Gl 8 E F FINE IR ?
Teq |

b ET R R AR —(F, FIST T AR 2
e |

> Ol e IR O AT OIME OF G —IIME LA I SRR 2
Teq |
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L0 “Reere & oAiMe e’ —Jd A e
Teq |
T2, “O3 (Ol GREEF Ay IR —TGI B 2
Teq |
LY SRiRe@td Sy e
Teq |

5% AGAN [T P ACE ?
Teq |
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SECTION -1
1. =fel ame g Seanlem ty (Ats A6+ Teal® @rr A wnee Mo eve At @

1x14=14

(i) b Bl qIoq T (AT 10" 7T SCEIGH AR (FE 28 | JoTH QS TR S

|
(a) +1.6 (b) —1.6

(c) 10 d) 10"

(i) «Ie it Bora efofs s «7Fg 3uF, A ¢ B @3 S $o7 4F9FY 23—

Ae | | | B
3

(a) ZMF (b) 3uF

(c) 6uF (d) SuF

(ili) Fftw e @b e @i AR ST fSos 02

(a) T (b) *Ife
(c) o (d) ==
(iv) <@ FTSIAIRGREE (SFOROIET rel Fe I F(A— OF AFCS TI—
(a) cefite fT=taa (i (b) NS FICTT (@4
(c) cHfirs TwAF @ (d) FANSATE SHACTA &4

(V)  OfSe pERR SIECE 9o SNfiE ©fte piee 761 [ SoF da wa wi—
(a) IR AT AR (b) T

(c) &R @4 (d) PR ifzes
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(vi) TR (PN R AL (IS 2ol (RIS @ FH AA—

(a) ~RIETFS (b) SRS

(c) SHIEF (d) fezbres
(vii) I TREICH 50V-9 SA ©fPeeRz (X | Seof ol 26—

(a) 250 W (b) 10 W

(c) 0.1 W (d) 1250 W

(viii) @5 AT 9fere Heralle SfTeia—
(a) (FETNG (BrAIFCFA ST I (b) (FIENG SFGLTFI TeAT (I
(c) ©fte @ b9, TO (a2 T A (d) G (FCAI CFag ooy FCF =l

(i) PR AL 60° @FC STS Yo Feredt vt Mg @3 Afs qrer Fouf afeslm e
m’_
(a) 6 (b) 2

(c) 5 (d) 4

(x)  CICH NCT SACAF (@51 2 x 108 m/s Z0eT €2 MY AfonaF g —
(@ 14 (b) 2.3

(c) 1.5 (d) 1.0

(xi)  27°C SoR g31b OGT Glfel wamendy A | 927°C TR oI5 (M 21—

» ook
(@) 7 ®) 3
» o r
© )
(xii) ¥ (TEET *MICLT WY 5 IR | AWML A ©F 64g, 15 I o7 Fo ARG @ o
fefoe A2
(a) lég (b) 2g

(c) 32g (d) 8g
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o<,

(xiii) AR 7RG 1011199 o0 IHRE AH—
(a) 19 (b) 31

(c) 23 d) 22

(xiv) PG TV BIeAER Tl h @ #jfF FPE R 2051 07 w5t Aiwzre TV Fbltes Sl 72—
(@) 24Rh (b) 2Rh

1
() 3Rh @ SVRh

SECTION - 11
e eniaferm Tea @9 ¢ (Reg el srmdm) | x4=4

()  SOERCRE (SR KRS (Pt Wi =+ 272
Ted |

(i) e pFRR SRR FIR 2
T |

(iii) SR (@ ROR & (TG AATSF qoe1l W i 232
W[ ST AW ST o9l 22 A (el 2
Ted |

(iv) SIS p-type SEiAIRT FHERe Fa00 (@ 7wy NEe F0e 2037
Ted |
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GROUP - B
Aweel Tefeiie epgefe Tea @1 ¢ (Reg erefe svmam) 2x5=10

1. TzE©l T 4Med FRRIEE @Y AT (&2
Teq |

2. WG ANEAI A O IAF SA ¢ TA Ofegar T2 FA(R | OfF 70 NGS! UK 5 cm. BT, G
O ST T P 6T TS P 2
Ted |
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3. X3 @ AFe SRR 9o #1127 @74 |
SN, (A MG SR FHAR G (J0o AN (512 @R *[7) TLGCH SR (FC A (312 |
e |

4. 0.8A w5 TR XA BT Sl X-aR AT WIS € SIS S Rrew-e/re e F4e s

& e e ?
SR, BT (HCE B - TPl oL -l AT T QAP (A 2

Ted|
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5. RWR TgEmt 3 AR € a3l PRl Sred 39 |
Ted |
GROUP - C

FefERe el Tea @1¢ @ (Reg awel Tmam)

6. @3 ©fEs farawa &= (@il Jre Rera afme fedg 39
Teq |

3x9=27
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7. @b IFCHCET ATOF A 0 10 em. @R @3 A, B, C, D A sRlb M wige it @ukew
S A +100 esu, —50 esu, + 20 esu G2 +30 esu, INCFHET G0 IR (QURYCS SFOCFHE AT

@ eq ey 77|
w24, 40uF @32 60 uF ey [ vib i @0t NI I& R A6 1-20F 240 volt e eiren
AT T 21— (i) IR Ge-4I7g, (i) FNRIRE (NG SN, (iii) dfolb «raa e fqef =1
(1+1+1)

Ted |
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8. 100 (S5 FRAIZ AR 1000 €2 @3 (F14 Tz | & @R 2@ @3 @ifba waig fosg o
COFLIGIR (9 FCET 40 (S5 915 sieql IR | (SFORBEGT @K F9?
Ted |
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9. (@) (T UFOIICTA TN (&7 |
(b) I T MCHT GF(6 T G b S0 (T3 FLTH AFCE (FPRCNR (PTG G

O] FO 2(J? (1+2)
T |
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10. (a) @I S V(e Igrel AP 30cm. 20 OF (I (M F© 2

(b) NfEx fESwiReR RN Tes vt & 721 741 272 (1+2)
2], A efonma (i [i#E @3t IR et w1 M SR S5 =0 e (@ieR et
ifSD 4|

Ted |
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11. (a) 3IE o= 2
(b) A = 400nm SFATCHT «F TEFGT oifofE fefy 7| oreA W, h = 6.63 x 103 Js,
m_=9.11 x 107! Kg. (1+2)
T |
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12. U™ @ws @ @eE 8 a -l ¢ 66 B-3¢l Mope s (@ Tga (et smitds I 27, ©F

TR @ ATARE A LT AR L F7 |
T2l (a) SIS FIF AL
(b) XM =S P ST (GG (& 2?2 —T A | (1+2)
Ted |
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13. (@) WS JCE A2 (1+2)
(b) GFIEPOEE S TP Lile FF 1 27 (2
T |
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14. wglg NAND-(55 5925 61 OR, AND € NOT (5i5 Tofd S |
Ted |
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GROUP - D
Faferfie epelera Ter @2 ¢ (g eMafe sTmMT) 5x3=15

15. (a)

(b)

Ted |

(e SIS, Nha TS ST@IS (@4 R-9F W 57 61, 727 4Q @R W W @it
21T AW | G2 A% A @R D {73 st [eeiren e s |

10 I
F - E D
~
I
40 R
s . -
6V
I | | /T L
A | ° > B N e
9V I 3V I

G35 110V — 550W ZBIRGE 220V (N2e91-9 2K 0@ 20 | F261ed 705 (@i J51t7 F9 @iy
5l FA0O 2?2 (3+2)
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16. (a)
(b)

w1, (a)
(b)

Ted |

(PR SO SIIACER @b (o |

10cm. IRRRHE @6 35fFT Feer G0 A0 (BT CFaF A 45° (el A WM | GRS
CFAD 15 G 0.2 T (AT 3 BICH 2T (AT %[ 257 | PR @K 1 Q T PO W7 S6L
AT S F© 2?2 (2+3)
AR OG- B a.c., d.c. S Roieemia (& ?

MAe (T, 9F0 NP (L), 90 97F (C) ¥R «F5 (@5 (R)-497 el TMRIEE (7507 «Fio
e T T I8AICe SbeelItEd Wi A 21 L = 100 mH, R = 100Q @R FF
1000S™! (& C-9F (Fi] AT Tl TG00 OTGLLANZI T AT 202 (2+3)
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17. (@) £, € f, G GGTE G0 ANSe (=1 ATCI F{0e STl SR | &9 9, ST 9e0
e L1
TR e Ty Ty
(b) TR-9F -y AR TOHR AT R T GFT SNCEARFAR II2F F41 26 ACo 6500 A
SR 5200 A S TR 4B ST 0T |
(i) 6500 A % TCHR WICAR &) (SR 5 [ (A GO B R g el <o |
(i) FER 5 T (AF T @ =0T 9 SqEE o B Sogel [ ffere 2 e Wi,
iRy o9 W0 779 2 mm. G ReEd ©e (A S Eg 120cm. | (3+2)
O, (a) AR SRR q0Ed el bar (=1 |
(b) b T AFT ACCAEH VPR TN ST PP @ A1 2 (2 (3+2)
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PART - A
1. fr=ferfee el Ter wie ¢ (g emiafa rwam) 2x5=10
(a)  CIeTiFHa (Proloactin) 57 @3 2ieits & 962

Ted|

(b) @36 o TS (Sex linked) IHI9MS (AT TwIzel wie | @ FFe 2
T |

S,
DNA Finger printing & ¢
Ted |

(c)  AIDS (RI5F ToPrafefe (Symtoms) (EICRT |
Ted |

[,
SRR Sk @ Soefele @l
Ted|
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(d)  CIeTER & KO 9@ (Law of Independent Assortment) & (04T |
Ted |

(e)  In situ Conservation (F5F%e)-4F R (FC | 4FO SWizFel 7€ |
Ted |

2. F=fafee emafle Ter wie ¢ (Reg awels smeam) 3x9=27

(@) LTS @ AL Trizemz el |
Teq |
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L,
2O S (712 | (@oiel 2 (What is implantation) 2+1=3
e |
(b)  Geneflow @] Genetic Drift 50T AT | 1Y5+1%=3

Ted |
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(c)  Genetic Code I (AT | 3
Te |
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o,
Lac operon ¢ Central Dogma 3@1C® 3 (I 2

Ted |
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(d)  Filariasis 933 Ascariasis (TR FIF0 € T2 (#0201 | 3
T |
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(e)  Single Cell Protein 3% Biofortification & ? 3
Ted |

S,
Poultry Farm Management HACC (1031 |

Ted |



DDKKHA [9] Bio Scince (XII)

() Single Cell Protein #[&{s{b G0 Ioa FC¢Al | 3
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o,
WY ¢ (NN el (sl & O (R0 | 3YF GIRIFLT (o0 | 2+1=3
T |
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(g) =Y R FRC® Biotechnology-F &g Iof«l T4 | 3
T |
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(h) BT Crops f&? Transgenic ®id Ie7Ce & Q-2 3
Ted |



DDKKHA [ 13 ] Bio Scince (XII)

() Green House Effect €<% Global Warming €< &l (&10AT | 3
T |
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S,

Chipko movement €3} Bio-mangnification i ? 3
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3. fmfefie emufea Tea s ¢ (Reg emiafa srsam) 3x5=15
(a) Do barz e Slerm R afeil 3@ w1, siferas@e (Polyembryony) &2
4+1=5

Ted |
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RN
fofere otz ST ST (Tetis) FARNF oo FRCHCot 90T F0A1 | Oogenesis F24+1=5
e |
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(b) T Sex-determination in human (AT (Tl [76%) Brz1< FCAT | Polygenic inheritance
e 3+2=5
T |
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fTEe @3 TP QO 2 YRR @32 Tiew PEgiead F99 ¢ Tosfale Sra It |
2+3=5
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(c) Agey *Ifee iz (Energy flow) RFSII TC6 2 NBGITSH bL&F WIFORAN G @01 | 2+3=5
T |
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S,
Ecological Pyramid I/l S | 5
T |
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PART - B
1. oS eria ey Teaclm ty (Ate 7« Teal® @rr Mo wnives N 2we AT @l 3

1x14=14
(i) IRHIRE Zeiaha e B 25—

(a) =al P35I (b) &y #ipeoi
(c) oM P35I (d) Az afy
(i) SFYE T A —
(a) MBI (ICs (b) RfcEam TS
(c) o el (d) TTfCFRT HRGeY
(iii) Rl i Teaifa afel T Swme (At zeT—
(a) &9 I (b) TS
(c) A (d) 3l
(iv) epiceifiRe ol I @ Sfem 1t zo1—
(a) == (b) gt
(c) fre=a (d) el
(v) Oifa Precgs Giea @l (e
(a) XO (b) XXX
(c) XYY (d) XXY

(vi)  DNA Replication Z[FICF ICeT—
(a) Conservative (b) Dispersive

(c) Semiconservative (d) Non-conservative

(vii) TG Tves F (F TR FCA 2
(a) TSI (b) =TI

(c) fo-fe= (d) AR




(xiii) BOD 2&—
(a) Biosphere Oxygen Demand

(c) Botanical Oxygen Demand

(xiv) TS ST (ol &=ew —
(a) WETeT 2@

(c) G2eTleT (02

(b) Biological Oxygen Demand

(d) =g 77

(b) Al SRt

(d) @=HE 77
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(vil) SIIEIF qeFefE Ao FET—
(a) CTeE! (b) PGS F
(c) fofee o=@ (d) TR ©F
(ix) (% @O (93 2e1—
(a) [ SRR (b) Er-SyiCaIRefer
(c) F-afen (d) e[za 7RTH
(x) (@G HEEG (T ZeT—
(a) SRR e (b) «afmifts 7w
(c) e T (d) SRR Ko
(xii) AR RO JIZe 27—
(a) Syl (b) TACFG WO
(c) FETEIE™ (d) TSR
(xil) SRS SIFEMNT (7 TR—
(a) TeTe Sfgw (b) ==Ey Tfem
(c) T ©fgm (d) =% SfERe et Sfgm
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2. fmfEie emafem Ten e ¢ (Rem eief ) | x4=4

(i) TR R 2 SrEe I |
Ted |

(i) % RN FCeTR 9o @EE CeTeal |
e |

o[,
RNA-¢3 3% 2
Teg|

(iii) Nonsense codon & ?

Ted |
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RN
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PART - A
(MARKS - 44)

Answer the following questions : (Alternative are to be noted)

1. Basu, Hari and Yadab are partners in a firm with capital contributions of ¥ 50,000, ¥ 40,000 and
< 30,000 respectively.

Their partnership agreement provides for the following :

(1) Interest on capitals to be allowed @ 10% p.a.

(i1) Interest on drawings to be charged @ 10% p.a.

(iii) Hari and Yadab are each to be paid salaries @ I 500 per month.
(iv) Basu is to be paid a commission of 5% of the net profit.

(v) The remaining projects are to be divided as : 40% to Basu, 30% to Hari, 20% to Yadab and 10%
carried to a reserve fund.

The net profit for the year ended 31.12.18 was ¥ 50,000.

Basu withdrew ¥ 1,000 per month at the begining of each month, Hari withdrew ¥ 1000 p.m. in the
middle of each month and Yadab withdrew I 1,000 p.m. at the end of each month.

You are required to prepare Profit & Loss Appropriation Account for the year ended 31.12.18. 4
Or,

What is Profit & Loss Appropriation Account State its two characteristies. 2+2=4
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2. Discon Ltd. issued 10,000 equity shares of ¥ 10 each at a premium of I 5 per share payable as
follows :

On application ¥ 3
On allotment (including premium) I 7
Oncall ¥ 5

Samir holding 500 shares failed to pay the allotment money and Mihir holding 500 shares failed to
pay the call money. The company received the rest amount.

Show Journal entries relating to calls-in-arrear in the books of Discon Ltd. 4

Or,

Write short notes on (a) Authorised capital (SFGI® &) (b) Forfeiture of share (%1 ACSAISF!)
2+2
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3. Shruti Ltd. bought the business of Shiney Ltd. on 1.1.18 consisting of sundry assets of ¥ 5,60,000
and creditors ¥ 1,00,000 for a purchase consideration of ¥ 5,00,000. ¥ 1,00,000 was paid by cheque
on 3.1.18 and for the balance 6% Debentures of Rs. 100 each were issued at a premium of 25% on
5.1.18 Pass necessary journal entries in the books of Shruti Ltd. 4
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4. P, Q and R partners in a firm sharing profits & Losses in 3 : 2 : 1. On 31.3.18 their Balance sheet
was as under :

Liabilities 3 Assets 3
Capital Accounts : Building 90,000
P 80,000 Machinery 40,000
Q 50,000 Furniture 20,000
R 45,000 Stock 30,000
1,75,000 Debtors 40,000
Reserve 30,000 Cash 10,000
Creditors 25,000

2,30,000 2,30,000
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Ans.

R died on 31st July, 2018, Under the terms of partnership deed R is entitled to :

(1)
(ii)
(iii)

(b)

Capital including interest on Capital @ 10% p.a.
Salary per month ¥ 1000.
Share of profit on the basis of profit of last year. Profit of the last year was I 90,000.
Show R’s Capital Account by showing working notes clearly.
Or,
What is Joint Life Policy ? Why is it created ?

Distinguish between sacrificing Ratio and gaining ratio. 3+3
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5. CC Co. Ltd. issued 30,000 shares of ¥ 10 each at a premium of ¥ 5 per share payable as follows :

On application I4
On allotment 3 7 (including premium)
On Call T4

Application were received for 30,000 shares. One shareholder holding 1000 shares failed to pay the
allotment money. On his subsequent failure to pay the call money, the shares allotted to him were
forfeited. Other than that, all money were duly received. These forfeited shares were re-issued at

< 9 each.

Show the necessary journal entries in the books of the company. [No narration is required] 6
Or,

(a) Distinguish between equity share and preference share. 4

(b) What do you mean by shares issued at premium. 2
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6. A and B share profits and losses in the ratio 3 : 2. Their Balance Sheet as at 31.3.18 was as under :

Ans.

Liabilities 3 Assets 3
Capital Accounts : Building 80,000

A 60,000 Plant 60,000

B 40,000 1,00,000 Stock 40,000

Reserve 80,000 Debtor 32,000

Creditors 35,000 Less : Prov. for 2,000 30,000

Bills payable 10,000 Doubtful Debt.

Cash at Bank 15,000

On 1.4.18, C is admitted in the firm for 1/5th share in the business on the following terms :
(i) Building to be valued at ¥ 1,00,000

(i1)) Plant to be reduced by I 10,000.

(iii) Provision on debtors to be increased to I 3000.

(iv) Stock to be reduced by 5%.

(v) C brings ¥ 10,000 as his share of goodwill in cash.

(vi) C will bring 50% of the combined capital of A and B after adjustments as his capital.
(vii) The new profit sharing ratio after C’s admission will be 2 : 2 : 1.

Prepare (a) Revaluation A/c. (b) Partners’ capital Account (c) Balance sheet as on 1.4.18. after
admission of C. 4+3+3
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7 93t 8 99 ATHA Ted wie |

7. From the following particulars, prepare a common size Income statement for the year ended 31.3.18

3
Sales 1,70,000
Cost of goods sold 9,20,000
Opeating Expenses 3,40,000
Interest on Investment 90,000
Taxes payable @ 50% 4
Or,
Write short notes on : 4
(a) Current ratio (5e1® S[l®) (b) Interest coverage ratio (31 ! Se{lw) 2+2

Ans.
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8. From the following information, find the formula on Excel for computing the amount of (a) Transport
allowance (b) Entertainment allowance.

(1) For transport allowance : Basic pay upto ¥ 50,000 at 20% and at 30% above it.
(i1)) For entertainment allowance : Basic Day upto ¥ 30,000 at 15% and at 25% above it.
Or,

State the different steps of payrole accounting.
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9 92 10 OF 2ATHE Teq wie|

9. From the following information. Calculate cash flow from operating activities cash flow from investing

activities and cash flow from financing activities.

Balance Sheet of G. K. Ltd. as on 31.3.18 and 31.3.19

Liabilities 31.3.18 31.3.19 Assets 31.3.18 31.3.19

3 3 3 3

Share Capital 1,20,000 1,40,000 Goodwill 20,000 16,000
General Reserve 8,000 12,000 Buildings 76,000 96,000
P& LA 7,200 6,200 Investment 4,000 14,000
Proposed Dividend 11,200 20,200 Debtors 30,000 43,200
Creditors 28,400 36,400 Stock 34,000 31,200
Cash 10,800 14,000

1,74,800 2,14,800 1,74,800 2,14,800
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Or,
(a) Cash flow statement FICF qCeT?

(b) Cash flow statement &3 STRES! el SCAG 37 | 2+4
Ans.
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Or,
10. (a) State the advantages of DBMS.
(b) Write the names of any two DBMS software. 4+2=6
Ans.
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PART - B
(MARKS - 36)

(MCQ & SAQ of 1 marks each)
1. =fel ame g Seanlm ty (Ars #6s Teal® @rr A wnee Mo ave At @l

(1)

(i)

(iii)

(iv)

v)

1x18=18
SO’ SR SN2 Ble] 27—
(a) 1930 FRBIH (b) 1931 FRTH
(c) 1932 /A (d) 1933 FRITH
SIS SETe Trae T AT SRAMRCR ST 89 (T T IM 4G 2T ©f Zo7—
(@) 5% (b) 6%
(c) 8% (d) &I 35w 4 73 =
Goodwill is to be valued at 2 years puchase of three years’ average profit. The profit for the
last 3 years of the firm are —
2017 — X 10,000, 2018 — T 14,000 2019 — I 18,000.
The amount of goodwill is :
(a) I 14,000 (b) T 18,000
(c) I 28,000 (d) 42,000
@ SRAMF ASDIT ST 8947 7 2T ¢
(a) 90 Tife (b) <% 2B
(c) @< (d) @3 =i
x and y are in partnership sharing profits and losses in the ratio 3 : 2. With effect from Ist
April 2019 they agreed to share in the ratio 2 : 1. Calculate the share of sacrifice and the share
of gain each partner.
: 1 .1 .1 . 1
(a) x sacrifices ~—th y gains — th. (b) x gains ——th y sacrifices —th.

18 18 15 15

1 1
(c) x sacrifices Eth y gains Eth (d) There is no gain or sacrifice.
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(vi)  Gaining ratio 2e1—
(a) AN TS (b) T ST

(c) Al SgPre-ags SgAre (d) T SAS-2CAN SIS

2
(vil)  The profit sharing ratio between A and B is 3 : 2. They admit C for 5 share in future profit.

Sacrficing ratio between A and B will be
(@ 3:1 (b) 3:2

(¢) 5:3 (d 1:1

(Vi) GFC SRPRAZIREA SHRMICIF AT S SR(D Ble] SRAMAWR IE RARLITS (T IT
feTead Face &3, ©f 2ol —
(a) SR FeHreF SGATS [ old ratio ] (b) Halgsil® [ sacrificing ratio ]
(c) i Sg7rs [gain ratio ] (d) 97 Fe=HoH S5 [ new ratio ]

(ix) (0 SRR A 7jefl @lifed (Maturity of joint life policy) 2% O & SIRAMIFAHR e
TS AT T—
(a) A sTeRRA TBCE Segaii® [ Old profit sharing ratio |
(b) oA eTeHIH IBCH ST [ New profit sharing ratio ]
(c) OIItals ©l7ir® [ sacrificing ratio ]

(d) =teT S(gT9 | [ gain ratio ]

(x)  Amount of premium for goodwill brought in by new partner in distributed among the old

partners in —
(a) New ratio (b) OlId ratio
(c) Sacrificing ratio (d) Gain ratio

(xi) Revaluation Account o 2eT—

(a) IfG PR 2o (b) s =R

(c) If&E 7= Fw R (d) 93 @02 T
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(xii) T T AT (forfeited) T 2, O (FIF o7 (¥ o1 (share capital) &AII (©RE

A W—
(a) Nominal value of shares (b) Issued amount
(c) Called up amount (d) Paid up amount

(xii1) Discount on issue of share 2s7—
(a) Capital Loss (b) Revenue Loss

(c) Total Loss (d) None of these

(xiv) T8 @G @6 (@ el @R (@EE T8—
(a) SEIW 7IF (b) TS AR

(c) o wfue (d) === w7el

(xv)  Face value of a share is ¥ 10, ¥ 8 being called up and ¥ 7 is paid up. While forfiting the shares,
share forfiting the shares, share forfeiture A/c. will be credited by —

(@) X7 (b) X3

(c) X8 (d) ¥ 10

(xvi) If 5000 equity shares of ¥ 100 each are issued at a premium of 5%, then total amount of
money received is —
(a) ¥ 4,75,000 (b) ¥ 5,50,000

(c) T 4,50,000 (d) Z 5,25,000

(xvii)Securities premium is shown —
(a) On the asset side of the Balance Sheet
(b) On the debit side of Profit & Loss A/c.
(c) On the credit side of Profit & Loss A/c.

(d) On the liabilities side of the Balance Sheet

(xviil))  Premium received on issue of shares can be used for —
(a) Issue of fully paid bonus share (b) Distribution of dividend

(c) Transfer to general reserve (d) None of these
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(ix) Under which head discount on issue of debenture will be shown in the balance sheet —
(a) Long term loan (b) Fixed assets
(c) Investment (d) Miscellaneous Expenditure
2. %% Teal® fFiva 4 ¢ (2 91Yat 3 @7 Teq wie) 1x6=6
(1) A vehicle is purchased for the business. It is a —

(i)

(iii)

(iv)

v)

(vi)

(a) Cash flow from operating activities
(b) Cash flow from financing activities
(c) Cash flow from investing activities

(d) Revenue expenditure

beine Sig=iifies 2% (Current ratio) s FCa—

(a) <TAIS =sTol (The solvency of business)

(b) AT el S (The liquidity of business)

(c) I WL ARSI (The financial structure of the business)

(d) <TAT e« o<l (profitability of the business)

Cost of goods sold —

(a) Sales — gross profit (b) Sales — Net Profit

(c) Sales — Expenses (d) Sales + Closing stock

If sales ¥ 400,000, gross profit 25%, closing stock ¥ 50,000 the stock turnover —
(a) 6 times (b) 7 times

(c) 8 times (d) 10 times

If creditors turnover ratio is 8, what will be the average payment period —

(a) 8 months (b) 4 months

(¢) 3 months (d) 1% month

Cash sales 1s 40% of credit sales. If total sales is ¥ 2,80,000, then cash sales will be —
(a) ¥ 80,000 (b) ¥ 2,00,000

(c) ¥ 1,12,000 (d) None of these.
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Or,
3. (i) fA=fEe @Fb Chart <312
(a) Bar (b) LAN
(c) Pie (d) Line
(i) e efem Sy @0 / @Rel v A srolfds M 0y 9ol F &) IJIZe 20—
(a) Column chart (b) Bar Chart
(c) (a)€ (b) TerZ (d) =g T3
(iii) XFDIO 7o ¢Fo—
(a) T (b) Gt
(c) o= (d) ™
(iv) bR (FE0 I € (@ 9T ATAZA—
(a) Work book (b) Work sheet
(c) Cell (d) @0 77
(V) 2T SERGF CRTHT TH—
(a) Visicale (b) Power builder
(c) Oracle (d) 08 7|
(vi) @36 Cell @1 FLAT Sigshst FfeTl A=A Cell SfFTTS copy FACE (olteT—
(a) Auto copy 909 = (b) Auto fill 909 =¥
(c) Auto formula F9CS T () (a) @ (b) Terxz
4. Feferiie emef wrg Tea we ¢ (Rag erfefa emdm) 1x8
() wAmR efewita 1o @R @)
T |
S,
S (2TF ®IG (Charge against profit) @3 FCSF IG(F (appropriation of profit) XY GIF (0 AL
Trere |

Ted |
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(i) F2a e @A “fs (Fixed capital method) FICF 012
T |

S,
veife 217 (Current Account) FICF 012
e |

(i11) In a firm w, y and z share profits and losses in the ratio 5 : 4 : 3. y retires and the new ratio

between w and z are determined at 3 : 2. Calculate the gain ratio.
Ans.

(iv) (I T SRAMIF LTI T STCS AT FNF &) Sl wifAe? | (What will be the journal
entry for reduction of stock at the time of admission of a new partner ?)
Ans.
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(v) RfeF® JeT4= (subscribed capital) IeTCe &F (J1RI2
Ted |

S,
9 ! (calls-in-arreas) A0S F (@2
T |

(vi) el HAfefe (Capital Reserve) T e 2
T |

(vil) Share <ICF T2
Ted |

(viii) Fr[Cen RfeRFe (= (Issue of shares at par) @O & (IR ?
T |
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S,
% o=t (Re-issue of share) IeCe & (AlRI2
T |

5 SAQt 6 THA AT Teq wie ¢ ([T emefe sTmam) 1 x4=4
5. (1) weire R @36 SARael (limitation) (12|
T |

S,
REIAF SJ7(9 (accounting ratio) FICF &1 ?
T |

(i) =&l Siies (Liquid Ratio) 7@ (1< |
Ted|
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(iii) K SAN® (operating ratio) 1533
T |

<,
(2T @%F 9T (Return on Investment) FICF I 2
T |

(iv) T[CeTE 5 (Cash equivalent) JeT0® & (IR0 2

Ans.
Or,
6. (i) Write one disadvantage of pay roll accounting.
Ted |
Or,

What do you mean by Bar chart ?
Ans.
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(i1) What do you mean by cell formatting.
Ans.

(i1i) Write on use of pivot table in MS-Excel.
Ans.

(iv) When is Bar-chart used ?
Ans.

Or,
Mention any one use of spread sheet in business.
Ans.
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(Marks - 40)
1. fefefie epele Ter we ¢ (Rag eial wmeam) 8x5=40
() SISEeF TET RRT SR, TA-CHIFANGAT G2 T ABIANH SN FATE ALTHCA
A | 8
BREIR
GIOR *If& FCF A2 STOR =& BIAMD 2 So{mie [rse 37| 2+6=8

Ted |
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(i) R FF 01?2 NFRANT S TS A 9 | 3+5=8
MREIR
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AET A TATE AR Q7o @ AFA RN T LTS S 5 |
Ted |
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(i) ABAEE AT *F I Fraeiefe [oge 791 8
MREIR
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TG AR (Tol RO SRS AdgR Ol SIEbal 39 |
T |
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(iv) FACTASIF 513+, e @ FAIE! SCADA T4 | 8
Ted |
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(v) SIS (I Mo 9197 € FRFA! AT SEAD 9 | 8
w2,
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(Fo! T SMIeT® T(F GF OIFl (574 | 8
Ted |



DDKKHA [[11] Pol. Sc. (XII)




PART -B

SHUAENT'S NAIMIO......coeeeeiiiiieeiiireeeeirremm s rrenassrrrramsssrrennsssrrsnmsssrrennssssrsnmssssrannssssssnnssssssnnssssssnnssssssnnnsssssnnssssssnnnsnssnnne

Roll No.

2019
POLITICA SCIENCE - B

Time : 3 hrs. 15 mins. F.M. - 80
QUESTION-CUM-ANSWER BOOKLET
PART -B

(MARKS - 20)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice
(a, b, c or d) in this box. For SAQ of 1 mark, answer to be written in the specific given space
against each questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [13] Pol. Sc. (XII)

PART - B
(Marks - 40)
1. 5= Seaelm vy (Ats #lGs Sl @z @72 ¢ 1x24=24
(i) Olet I&@ =S AT JIT FCaN—
(a) e (b) e IFH
(c) T (d) ifser
(i) IS (SG WA ST T AZH AR —
(a) 1186 (b) 119
(c) 1200 d) 121
(iii) T F AT SRZw —
(a) = ffacs (b) TIFICS
(c) FECAICS (d) FoTgTS

(iv) T 4T TP 2 —

(a) fERIex q=== (b) G A
(c) ¥ =i (d) Ifera 72T
(v) “The Making of Indian Foreign Policy’ &%d (F14F —
(a) GO (b) TRSE A
(c) TR0 (d) =TI

(vi) Ross Seifs=s el <@ 27—
(a) SIfoRACH (b) F=v=el Afames

(c) OIS SRS (d) FAa=e TS
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(vii) AT Sifortes Me med SREe —

(@) (ECTSITS (b) % T
(c) YL (d) fewmits

(viii) ©RTS g% AT I8 AT TR NI
(a) @& av. Piefs (b) RS B Tl
(c) SN ezl d) f& s & e

(ix) ClfeR SR S T GG A (&6 Foul @14 T I 2

(a) 5% (b) 3%
(c) 7% ) 10f
(x) SRS ¢ AN AR AT SIS (T F9 2
(a) 2 <=d (b) 3 =7
(c) 53=A (d) 6 =g

(xi) V2 SrOIiT Ay FHIEH N S2ATe [ (7l st o [ wea—

(a) 2RO (b) T A%IHS
(c) (I Mo (d) fferr B
(xii) FF=fs e Mre Aley AP
(a) ofCs (b) Tm AEw KT
(c) T=Fdl O_% WEFE [/ (d) SIwsifes T [a

(xiii) SRS AR P & SNeTF (Zero Hour) Hls] 28—
a) 1962 i (b) 1952 2

(c) 1955 2 (d) 1947 i
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(xiv) fa-% R @izs Koo s Riaw—
(a) “TI% (b) ™
(c) =16 FiEA (d) FElR=
(xv) MR IS SNZTTOR CHICH 13 21—
(a) (oMl (b) GG
(c) ATl (d) sefeRE T

(xvi) ‘=l 7%l =z’ (Consumer Protection Act) #éie 27—
(a) 1985 ALz (b) 1986 &t

(c) 1968 23 (d) 1984 i

(xvil) ““Io=E (A S F© A AP 222
(a) 1993 2 (b) 1992 Tz

(c) 1994 i (d) 1991 2

(xviil) SRTST AR S SAWETS (0 ?

(a) % ST (b) ZEHG

(c)  CeTieoTel (d) F& @6
(xiX) (I SIS Gl I I T2 2

(a) . @9 o=t (b) al=RiTe

() (s (d) 2w sl

(xx) ST ADIAFAE AN AFT—
(a) R (b) e Teiw S

(c) 35 AP (d) =g ADI
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(xxi) ST FRTeIfgF * 20eTe—

(a) g (b) =E~fe

(c) & sifem (d) TR @ET auw ReEeifs
(xxii) (el f4ifve afsfafama aet za—

(a) JICHER (b) efosa

(c) Teiofe (d) wmfeTzs
(xxiii) T AL ALCON N2 TR A IeT 2 ?

(a) IR FEPTF (b) &= “i=fitroce

(c) SO AFMGIoE (d) TR Ao
(xxiv) (P Re9F MR SfoeRe @ 232

(a) Wiz R (b) =P Reles

(c) o= ReniE (d) FeE @Fcg

2. fwferfee emufem wfonirg e wie ¢ (g ar=am) 1x16
(i) <™ pie T JBICH FIT (F0F AHES &2
RREIR
S pied eluie Sraey & feste

Ted |

(i) 2P @ (AR elf Dol &2
e |
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(i) ©RCeF oY qife 52
w2,
CTBT-93 7t 9 2

Ted |

(iv) (JET0ET ACHAC I (7 SIR¥I2ZS FATRE 2

e |

(v) MR AR Sy b2
RN
CENTO fF?

e |

(vi) FAO f&?

Ted |

(vii) w=PIba Reeita fEibe 2w2

ey |

(viil) AR TS G @Fgs)f Fer (=14 |
w2l
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CSH! FICF A2

e |

(ix) oF ¥ € N 7Y APNIT [y A1 b2

Ted |

(x) SRCe APl Wb @Il Reai (il mest o [sien & 02

ey |

(xi) SRR +FFG Nex 126 STl (=14 |

Ted |

(xii) =T A o (5o

ey |

(xiii) & FEW FwF e aifde
w12,
2T ST 2T TS (7122

Ted |
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(xiv) TSI (ol Al (Fal FIF o1 T 2

e |

(xv) CTITONS FAL ©ltel ©lsl 741 I7 ¢ F 52
S,
(Plererel SR Frofitaitas 12fb oM Fes Srae 42

e |

(xvi) (el sfzane w2t 2R SHba A 1L ?

Ted |
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DDKKHA [2] Geography (XII)

PART - A
(Marks - 35)
1. fffie emefea Tea wie ¢ (Reg amiefs ) 7x5=35
(i) OIFARIT AT @R GG 2eel fFeitg 3B 23wl Hapig Wil w97 4+3=7
S,
LR -l [FeIa e 9ro? AT [KFe 5+2=7

Ted |



DDKKHA [ 3] Geography (XII)




DDKKHA [ 4] Geography (XII)

(i) (SfCrER FAorEa *rofdfe] Trad F9| (ifre a7 5 ' 0 2 232 5+2=7
L,
SR ATHCOT QTG 2 BN T2 FICF AT 2 542=7

Ted |



DDKKHA [ 5] Geography (XII)




DDKKHA [ 6] Geography (XII)

(ili) M AN FRT @R (@72 | WloF F FICF A2 5+2=7
Teq |



DDKKHA [ 7] Geography (XII)




DDKKHA [ 8] Geography (XII)

(iv) MR SRrEas S diPies € Lfiafos AR el StEbl 9 | SRS F 03 ?
5+2=7
Ted |



DDKKHA [9] Geography (XII)




DDKKHA [ 10 ] Geography (XII)

(v) TR #ifiRe-a3 AR efe e gsiies Afdrens due Sfewta & e 4+3=7
RREIR

TeFeforR @R @ St e @ (g IF AE? (AT (F ORced Hfee onifer 79 27 (e 2
34242=7

Ted |



DDKKHA [ 11 ] Geography (XII)




PART -B

SHUAENT'S NAIMIO......coeeeeiiiiieeiiireeeeirremm s rrenassrrrramsssrrennsssrrsnmsssrrennssssrsnmssssrannssssssnnssssssnnssssssnnssssssnnnsssssnnssssssnnnsnssnnne

Roll No.

2019
GEOGRAPHY - B

Time : 3 hrs. 15 mins. F.M.-70
QUESTION-CUM-ANSWER BOOKLET
PART -B

(MARKS - 20)

Multiple Choice Type Questions (MCQ) & Short Answer Type Questions (SAQ) of 1 mark
Instructions to Candidates :

1. The candidate is required to write his / her Full Name, Roll Number on the Question-cum-Answer
Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice
(a, b, c or d) in this box. For SAQ of 1 mark, answer to be written in the specific given space
against each questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [ 13 ] Geography (XII)

PART - B
(Marks - 35)
1. ofsf e g Teaalem wy (Ats A e @z Fea siw 797 vt S mewt 3wy foe
we | 1x21=21
(i) ‘Aquifer’ *fb (P9 SR (ACF AR ?
(a) =TI (b) wsfie
(c) ==t d) =
(i) = jEr @ Koo el ze1—
(a) RIS (b) FleTRIRFE==
(c) == (d) TS
(iii) @0 CoteRIE NHT Trizael e —
(a) BIRCACSS (b) o=l
(c) =Tee] (d) SNCRIES
(iv) @b S-=el NTT T 25—
(a) =“Teere (b) =TICGAIZG
(c) F=e (d) Cefiez=t

(v) S=f(Cl o, p,r t) 9T ‘0’ IO (IRCAN TH—

(a) T (b) uge

(c) SR (d) =N G AR
(vi) T @ e e [are e

(a) G (b) =®

(c) G (d) GNGPNAR




DDKKHA [ 14 ] Geography (XII)

(vii) #f<SR ey i JRsie I& B 2o 1—
(a) e (b) ==

(c) ==l (d) 2=

(viii) (9 BT WY M (&6 Y 2w 272

(a) BIGIFEE (b) CAIFERE
(c) «cfiFEaE (d) T Gralifea
(ix) = Sfen =7 F « 7ARbe?
(a) FVFGFZD (b) ICAIFERE
(c) (SAFIED (d) TAFIZE
(x) “AFoReR @ el T iEe w@ieRe
(a) <A (b) ™
(c) wiferlerg (d) ofeml
(xi) ST TS ST T Tolg F© ?
(a) <2000 D.U. (b) <20000 D.U
(c) <200 D.U. (d) <20 D.U.

(xil) R G (A0 2ASF weftafes fF-Faie ¢
(a) <lfafeye i (b) Gt et fefes 3

(c) e (d) =«

(xiii) SR AT LT *PTS 2T ©OF I 2
(a) ©F® (b) ST oI

(c) g (d) =




DDKKHA [ 15 ] Geography (XII)

(xiv) (X FFo1 T JBATC 47 T3 2 ERICA (Tl AT F el elbfero 222

(a) e g (b) w8 FR

(c) afaw & (d) Zerss
(xv) W [ReR @ R A0 TH6we 2

(a) ™ (b) T 51T

(c) EPT=m (d) 7% S

(xvi) (¥ R Ges DI @ 272

(a) ©FF Sl PR (b) <IN (=TIl
(c) I HA F (d) FqILT
(xvii) SNTE(EF W TN (FX (Pl 22T SAZ© ?
(a =S (b) =P
(c) wifee (d) F6F
(xviii) G &y @A R 2 QA 2
(@ A9 (b) o™
(c) €69 (d) Il

(xix) (I FEMF SRTe SaizsIe s Io1 23 2
(a) (b) GT=-E>{®

(c) 7% (d) CoTERPIRE

(XX) FTON I SIZ TEOF AIEF (F?
(a) femtzEmw (b) (ofes

(c) eI (d) e




DDKKHA [ 16 ]

Geography (XII)

(xxi) 2001 FCER SVASAR SR SIRCS T 23T ST F© 2
(@) 930 : 1000 (b) 940 : 1000

() 950 : 1000 (d) 960 : 1000

2. e emiefem wifenre Tea wie ¢ (RFg rsaT)
() T OOl FIE A2
Ted |

B,

51 OO FF AT 2

e |

1x14=14



DDKKHA [ 17 ] Geography (XII)

(i) T FH FF A2

Ted |

B,



DDKKHA [ 18 ] Geography (XII)

FEEPIE el FCH 02
T |

(iii) gfITSH 5 FICF ACeT?
Ted |

B,



DDKKHA [ 19 ] Geography (XII)

fez®ia (e BT (equatorial dual trough) 12
T |

(1v) A< FCF A2
Ted |



bb A [ 20 ] Geography (XII)

(V) AL (I LRI SRS S ?
Ted |

(vi) RS SECRMAN (I LRI S (el A 2
Ted |



DDKKHA [ 21 ] Geography (XII)

(vii) FEHRAMI (& RGP @F @S 2
Ted |

(viii) ITCZ 2
Ted |

B,



DDKKHA [ 22 ] Geography (XII)

4 o’clock (337 2
Ted |

(ix) N.D.R.F. &3 «[Gal <7 i
Ted |



DDKKHA [ 23 ] Geography (XII)

(X) *PT eoTeR A FROF(G FERICA T2F Fh71 2
Ted |

B,

OIS I JReN g (I ?
Ter |



DDKKHA [ 24 ] Geography (XII)

(xi) ZEgefF (Hydroponic) 2
Ted |

(xii) FifoR oW FIF AT 2
Ted |

B,



DDKKHA [ 25 ] Geography (XII)

feifor a1z e
Ted |

(xiii)) WTO @ M W& (T *I2(J SR(ZO ?
Ted |



DDKKHA [ 26 ] Geography (XII)

(xiv) GLS. €3 A = F?
Ted |

S,
GP.S. @ 7[7al 7 2
Ted
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80 0 Lo [=Y 0 AN V= T 0 (=
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Total -

Marks obtained
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DDKKHA [2] Cost & Tax (XII)

PART - A
(Marks - 44)
e—=
1. fFeffie exefem Tea we ¢ (e emaf srsdi) 4x2=8

(a) From the following information, Prepare a stores Ledger account under last in First out
(LIFO) Mehtod.

2018

May 1 Opening balance 1200 units @ T 3 per unit
May 6 Purchased 1000 units @ ¥ 3.5 per unit.
May 12 Issued 1500 units

May 16 Purchased 1300 units @ T 4.00 per units
May 22 Issued 500 units

May 25 Issued 700 units

Shortage of 100 units was found on 24th May, 2018.
Or,
Mention the objective of pricing for issue of matierals
(I [Rfew R Srareler Srad )
Ans.



DDKKHA [3] Cost & Tax (XII)

(b) T T @ FIS WIS AN W4 B A1 (0 |
(Write four differences between time keeping and time booking)

Ans.



DDKKHA [4] Cost & Tax (XII)

2. FEfEie emafem Tea wie @ (Rag awiel srwam) 6x1=6

From the following information, calculate gross earnings of each of workers M, N and P.
Standard time per unit : 6 minutes

Normal rate of wages per hour : g 100

Diftferential wage rate : Below sandard 80% of normal rate of wages per unit

At or above standard 120% of normal rate of wages
per unit.

In a week of 45 hours, production of M. N and P areas below :
M - 450 units, N - 500 units, P - 600 units.

Or,
(a) SIEPT IR FIE 0T 2 S A Yo SARe 7S |

(What is idle time ? Give two example of idle time) 2+2



DDKKHA [5] Cost & Tax (XII)

(b) IRMefes ¢ TRCfes IGH M »fafed Sy 70 AL @0 | 1+1
(Write two differences between piece rate and time rate system of wage payment)

Ans.



DDKKHA [6] Cost & Tax (XII)




DDKKHA [7] Cost & Tax (XII)

3. fa=feifie emafem Teg wie @ (g awiel® =) 8x1=8

(a) From the following information, Calculate gross earnnings and effective rate of wages of each

of the worker Rajib and Sanjib.

Rajib Sanjib
Time taken (hours) 50 40
Time saved (hours) 20 10
Normal rate of wages per hour (¥) 15 12
Incentive Scheme Halsey plan Rowan plan
(50%)

(b) For a job, standard time is 50 hours. Actual time taken for the job is 30 hours. If effective
rate of wages under Halsey premium (50%) method is ¥ 20 per hour. What is the wage rate
per hour ? 6+2

Or,

A worker takes 100 hours to do a job for which the time allowed is 120 hours. His daily rate of
wage i1s Rs. 70 for 7 hours.

Calculate the works cost of the job under the following methods of wage payment.
(1) Time Rate Plan.

(i1)) Piece Rate Plan.

(i11)) Halsey premium Plan.

(iv) Rowan Premium Plan

Additional information :

(a) Material cost of the job Rs. 1000.

(b) Factory overhead 200% of wages.

Ans.



DDKKHA [8] Cost & Tax (XII)




DDKKHA [9] Cost & Tax (XII)

4. fwfefes emafera Tea e ¢ (Rea erafe srwam) 4x3=12
(a) Pri6 (F SR PRT Trieae e A ST e SRR T FHS
S,



DDKKHA [ 10 ] Cost & Tax (XII)

ST TGl SR T=H0E FREFCA (S0 |
(Recovery of unrealised Rent)

Ans.



DDKKHA [ 11 ] Cost & Tax (XII)

(b) (i) ST 2, 1961 SR, ALCHM el 7€ Ire Fi (=12
o,

@ B (T 2Bied 2o [eafbe &2 a1 9w 9o e Swizge wie |
Ans.



DDKKHA [12] Cost & Tax (XII)




DDKKHA [13] Cost & Tax (XII)

(i1)) From the following assets, find out the capital Assets.

(a) House hold furniture, (b) Jewellery (c) Securities held for pleasure.
(d) A house property used for personal purpose.

Ans.



DDKKHA [14 ] Cost & Tax (XII)

(c) From the following information compute Income from other sources of Sri Nirmal Chakraborty
for the Assessment year 2019-20.

3
(1) Income from agricultural land
(land is situated in Nepal) 30,000
(1) Family pension received 75,000
(iii) Royalty from books 18,000
(typing cost of the manuseripts F 3000)
(iv) Dividend received from UTI 64 Bond 10,000

B,



DDKKHA [15] Cost & Tax (XII)

Sy S (A S ACe T A fofe A2 Setval S |
Ans.



DDKKHA [ 16 ] Cost & Tax (XII)

5. Fefeiie emaflem Tea wie @ (Rag awiel srwam) 10x1=10

Sri Atul Roy is the owner of two houses. Information relating to the two houses for the previous
year 2018-19 are as follows :

House - | House - II

Situated in Mumbai Chennai
Used for Tenant’s residence Self-residence
Actual rent received () 2,75,000 —
Net municipal Value () 1,80,000 1,80,000
Fair rent () 3,10,000 2,80,000
Interest on loan () 70,000 20,000

(for construction) (for repair)
Vacancy period 1 month —
Municipal tax 10% 10%

In case of 1Ist house 10% of municipal h tax has not been paid during the previous year 2018-19.
Compute Income from House property of Sri Atul Roy for the Assessment year 2019-20.

(a) (i) e PRICE 2t &= I 01.04.99 G@97 el (F931 27 OIZ0E OF FA RIS G STl
TO? G OF & b *CE Tre FCAl |



DDKKHA [17 ] Cost & Tax (XII)

(i) TG eTel TN Te0e F @I ?

(b) Sri Amit Kar is the owner of a let out house in New Delhi. If during the previous year
2018-19, income of the house is determined as stated below under the Income Tax Act, then
complete the statement.

Gross annual value 3
Step 1 :  Reasonable expected rent
—Higher of gross municipal value and fair rent,

Subject to maximum of standard rent,

(a) Gross municipal value 3,80,000
(b) Fair rent 3,90,000
(¢) Standard rent 4,00,000
Step 2 :  Rent received or receivable ?
Step 3 :  Gross annual value ?

— Higher of Step 1 and Step 2

Less : Municipal tax paid 20,000
Net Annual Value (NAV) ?
Less : Standard deduction ?

u/s 24(a) @ 30% of NAV
Income from House Property 2,80,000
2+1+7
Ans.



DDKKHA [18] Cost & Tax (XII)




DDKKHA [19] Cost & Tax (XII)




PART -B

SHUAENT'S NAIMIO......coeeeeiiiiieeiiireeeeirremm s rrenassrrrramsssrrennsssrrsnmsssrrennssssrsnmssssrannssssssnnssssssnnssssssnnssssssnnnsssssnnssssssnnnsnssnnne

Roll No.

2019
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Booklet. It is compulsory for the examinee to get the Question-cum-Answer Booklet signed by the
Invigilator in the space provided.

2. Aboxis provided at the right side against each question of MCQ. You must write the correct choice
(a, b, c or d) in this box. For SAQ of 1 mark, answer to be written in the specific given space
against each questions, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be tied se-
curely with main Answer-script.

Marks Awarded

MCQ | s
................................................................... Signature of the examiner
Signature of the Invigilator SAQ

TOTAL

PT.O



DDKKHA [ 21 ] Cost & Tax (XII)
PART - B
(Marks - 36)
1. fT=g Teaelm vy (At 7fds Tea® @z @9 ¢ 1x24=24
() R @I ST S ST (ACE B AT AR T A A2
(a) wToNA (b) VT TN T I
(c) AT (ACF @i ©ie (d) CIT (T (ATF =

(i) TN € (7 & AFe Afafens A (Stock-in-trade) 2o —

(iv)

(a) orfe it (b) weihe Fvifg
(c) SF Tife (d) e e
(iii) I B2, 1961 S ALCR T JETe 7if€ 20 (AE (T T[HCEAR o) TV 2K (<
T AT 2T o To—
(@) 12 SR 9 7 (b) 12 I I OF AEF T
() 9= (d) 9 (02 77|
sTfE (A0F SNEHF (GG F TG (Standard deduction) S SfEa (@« fasifae za—
(a) MM 23 (b) =T 24
(c) @=i 25 (d) 43T 26

(v)

(vi)

OGP (FAIFENT G2 (A0 AMGT T STl OF AeT—
(a) efife ©fel (Standard rent) (b) 2 ©Gl (Actual rent)

(¢) <1 ©rel (Fair rent) (d) SI«ItwY erel (unrealised rent)

ARDIETRE ARTERE G Sy I 92 G SRR SIS |
(a) TR MFE SR (b) IR @ T PG SAR I

(c) e T TARRRT (d) Roee AFE TR




DDKKHA [22] Cost & Tax (XII)

(vii) «Fe WHERFEF 400 GFF A9 § IO T FACe 6 267 | (12 TN RSO 320 4FF el

TeAMT F6T | UTF0E ©OIF IIET TFOIF AN F90! |
(a) 80% (b) 100%

) 120% d) 125%

(viii) e f2fims smafers @ieat whiicFa (@« J9GEE (Bonuis hours) #if&sie 23—

(a) 50% of time saved (b) 33'/.% of time saved
(c) 40% of ti d (d) Time taken xTime saved
¢ o OF Hie save Time allowed

(ix) =0T &fs WG 217 80 GIFFl | G(T #iely Sesiine 0w 12 WG o =Mi9itet g3 eif's g 219 T 2

(a) 16 BIl (b) 25 il
(c) 12.67 Bt (d) 30 it
(x) “AfFore JHMIE 2o @3 AT o —
(a) SHHCIRST @ (b) FeIT o
(c) wfelre =fe (d) =ion = =3 =l
(xi) WHEITRS @ smiors FoEE [ier JerRe Ses Ige 787 (Closing stock of materials) TE
(e Ao 22
(a) FIFO (b) LIFO

(c) NG 7@ie (Simple average) (d) 90 @FICADE 73|

(xii) O (@A @R RO @i (A0S 1Y TR S IAFCT 40000 TR € 50000 Bipl
20 PN TSR #Afasiel 2a—
(a) 40000 B! (b) 50000 Bt

(c) 95000 Bi=st (d) 10000 GBIt




DDKKHA [ 23] Cost & Tax (XII)

(xiii) TOIR (AT @5 2N (9" 14000 BIFl (G 2AIC2i= AR T 2 (ST (ATE I FoIF 27 30%)

a) 20000 il (b) 10000 GBIt
(c) 30000 GBIzt (d) 40000 GBIt
(xiv) AL SERf 701G 2re 2061 MARICE T94ED (I BT oo T @
e SIfEeR Ce 22
(@) 12 (b) 15
(c) 30 (d) 36

(xv) SIS A YFECO @ G0 AT 4 @few 2017 ok e 20 Tems, 2017 SR ke
AN | AT 4@ 7S AT ol =72

(a) KGRI JETale T=ife (b) weife svife

(c) FETRIfit T ife (d) TR e
(xvi) AE AT (AT O 927if€ (Farm house) (AT O ACE —

(a) A (b) Y

(c) 50% AT (d) 9@ @FIADE 7

(xvii) SR ©N2H, 1961 (O J2Irife F>(F e 2re—
(@) 5 A= 10 «=F (b) 15 CATF 20 4T

() 22 (AT 27 4% (d) 30 (A= 35 4=

(xviii) TARRRIE (27 ¢ +RAGTAE TARIET ©lol FAF ARG O e ZeT—
(@) T ACSH S (b) s azd

(c) Tz (d) 9 AIDE T

(xix) A (@0 SRR (overhead) Swizge 32
(a) FRRAE ©lTl (b) SR AEFGHF <

(c) fRax FHG e (d) =or® R N




DDKKHA [ 24 ] Cost & Tax (XII)

(xX) G FICS S 3T (Standard time) 20 D61 | T (T @i €3 FiSr 16 TG 3779+ I, 7
AR RS (50%) [Halsey Premium Plan] SRS SIF @5 A5 27—
(@) 2 9% (b) 4 T

(c) 89D (d) 10 =<5

(xxi) W BAMC (Standard Production) #f&s 50 5= 300 455 | (I SN €2 7T 2F®
Tt (actual production) #fFNE 360 @I 20, AES T (time saved) AT 2J |

(@) 59l (b) 8 WG
(©) 99 (d) 10 =TI
(xxii) FIGMEITER Ol efevs @ Ko ogs FE—
(a) I Ko (b) TerAme et
(c) gl e (d) o e
(xxiii) fT=ferie e w0 @ Fa (Purchase requisition) (F (ofF FI—
(a) e %< (storekeeper) (b) &¥ G-I (purchase manager)
() TeAAMe IS (d) =il g
(Production manager) (Finance manger)

(xxiv) (I 7T IRC WL (Assessee) ©FF I TR (AF 75,000 B W (Gift) BACI (o= |
A9 MIC At —
(a) 15,000 Gt (b) 35,000 B

(c) 75,000 B (d) amF @FADE T




DDKKHA [25] Cost & Tax (XII)

2. fwferfee emufm wfonirg e wie ¢ (g =) 1x12=12
() %3 Tk It 012 (fixed overhead)
Teq |

B,
- {fqEaIe AT FICEF T2 (Semi variable overhead)
T |

(i) Tl 7 91 A WF SeAMTA (Standard output) AT 80 G| €3 G2 FAG (HCAI
=R AT SAMGR w100 955 20e, @07 wiwes w7 (Level of efficency) T2

Ted |

o[,

Ted |



DDKKHA [ 26 ]

Cost & Tax (XII)

(iii) FHIET B @6 F12 (Transfer of Materials)
T |

L,
PET TfeAE 7 0@ I @RI 2
Teq |

(iv) ~IEAIRs SRPE-3f& (Family Pension) (23 QICT 717 12
T |

B,

QTG (AT G WA 6 =17 56000 5t | €3 W7 Facater <ieg A= Fo 2

Ted |

v) ¥ FRE [KiE aw e e & SEEE e Aire w23

Ted |



DDKKHA [27 ]

Cost & Tax (XII)

S,
i (Assessee) Miem PRIGH J2orife & Jemf wrife?
T |

(vi) CTETR SRR 356 (AT AW SISl (FIN TS =T I [AD® 2072
e |

S,

(e PRIGE S AR AMTH (ACF T FUG 4eNsE (Negative) 232
Ted|

(vii) IR SR G R TARIRR b FH Snizgel wie |
Ted |

B,



DDKKHA [ 28] Cost & Tax (XII)

¥ Toifcarn e Afaadaler 239
Ted |

(viil) (I 9F AYE GFG @RF 50 W0 FG I €2 @RFT o (@0 4,500 DRFl G @A
1,500 i<t | wfiefoa @l elfe SR ?J@%]—ﬂ' 29 (effective rate of wages per hour) 9 ?

Ted |

B,

FICE Tl GG HRFCF 80 0! T (WS 2 G (37 60 TG FISo (¥1T T | (@I A=
s@feoto (Rowan premium plan) (3 F© ¥IF NG @IFH BT (1072

Ted |

(ix) T (F™ (AF MG ©IGITF (Stores) I F FACe [fe1 2eq IHNA (FF© NS A2
e |

S,



DDKKHA [ 29 ] Cost & Tax (XII)

Opening balance of raw materials is 120 units @ ¥ 10, If 130 units of raw materials are
purchased @ ¥ 20 per unit and 150 units of materials are issued, then what will be value
of raw material issued under ‘Simple average method’ ?

Ted |

(x) TR NS oo Jral Tlen eplon ToF [osler |7 — (oI Toe Wi |
T |

B,

a3 @iifFE 3000 e [RiE @ 15000 TR SFRiT Are 20z | 8@ RIRG (&4 200"
02.06.18 ©iffd @32 Ty 2R 16.07.19 OIRC | SER #lten eFfelt Srard 1 |

Ted |

(xi) & =NF A AWM SR[Te 93 F ThE Nifer | €2 F i [(iE w03 e ae [ e
AS” TS FICAT |

Ted |

B,



DDKKHA [ 30 ]

Cost & Tax (XII)

TG T 46 THIRA WIS |
T |

(xii) RIbe WFETFT (Deemed Owner) G Twizge WG |
Ted |

SR
5/2If6x RS IET (Annual Value) ICe F (@G 2
Ted |
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PART - A
(Marks - 70)

1. (a) @ (W 9D ATHF T&d 7S 2 2x1=2

(i) M€ @ f:N >N Bae A f(x)=3x = AT, N (706 € G2 F6F G G- el o
Tl ool 7|
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1
(i) <=l fgred 9o &9 tan™ 5 R tanlé 20e] PO (G ey Al |

1. (b) @ FW 90 ATHF T&d 7S 2 2x1=2

o

(i) Fgfe a1 s axe s s

a a’ bc| |1 a* a
b b> cal=[1 b* b’

c c¢® ab| |[1 ¢ ¢
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11 1
(ii) CW?H@@A=${_1 l}ﬂﬁmmml@@?@ A~ e =t

1. () @ (= foalb o= Tea we ¢ 2x3=6

() f(x)=|x| Sworzs x = 0 R swases i ket 2w+ |
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(ii) g—zﬁ‘ﬁ.fw, @ity x=acos’O, y=asin’0

1
(ili) GThe (1, X+ SRS B A O S W WA FE |
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(iv) xy=c? F?RIFE x-9F G} x =¢ 8 x =2c &I 157 7 Aodm wiere cwrawe el Tt |

2

(V) f(x)=4(6—x)5 ST (FG 5< x<T R SOIRACGT 0T A SAZG &0y =6 0T |
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(vi) = e =t jx“ logx dx

1. (d) @ @ GFO AT TS wie ¢ 2x1=2

—

a

—

(i) =i a,b,c for (937 @ @, a+btc=0 @& |a|=3,|b|=4, |c|=5 zam, orte @

e T

a.b+b.ct+c.a=-25
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(i) x+ky+5z+2=08 3x —2y+kz—1=0 T qi> (T S 7% 2Ca1 K @7 A {wef7 I |
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1. (e) T (I GFH 2ATH TeA wie ¢ 2x1=2
(i) e @ A ¢ B 951 qfoa 0% o <67 5e[=i P(A)+P(B)-2P(AB)

(i) <3 faol oot 43 @ (ovmia I 3 ¢ 4; Roterag “rRfoeE 76 [ st |
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2. (a) (T (I aFH &AHA Teq we ¢ 4x1=4

() Ore FRA AR (15 Z-49 T @ 77 R fomead Ao 2, R = {(x, y):x+y < T (&IC

IR X, yez}

A8 (T, Z 7 TAF @S R GF FAelgetre! 797 |
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1 1-x°
(i) e @ 2tan” X cos XZ:
I-x I+x

i
2
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2. (b) Tl emiefm Tea we ¢ 4x2=8

-3 4 1
(i) A=| 2 3 0| Wi @b dfenw ¢ @it [Reforms mhy-aa T=Rd S a5 S |
1 4 5
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a b c
Gi) i fefg e e |02
c a b

2bc—a’ c’ b’
oA (e @ ¢’ 2ca—Db’ a’

b’ a’ 2ab—c’

= (a3 +b’+¢’ —3abc)2
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BREIR MY FCAl 8

X+a b c
a X+b c |=0
a b X+C
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2. (¢) fwfefae emjafera Tex wie ¢ 4x3=12
(i) IM x=sin6, y=cosh (P = #<<F) T, O &9 I (T,
2

dy _dy
1-x? —x—=+p’y=0
( )dxz dx Py
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S,
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(i) == fAsfa Fat s

Icos(logx)dx
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S, AAFET FCAl 8

J- sec’ x dx
J5sec?x —12tanx —1
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(iii) 9w S 8

d
10g(§j=4x—5y AT x =0, OAF y = 1
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o[, e* tanydx+(1—e")sec2y dy=0
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2. (d) @ I aFH A Teq we ¢ 4x1=4

@) a=5i-2j+5k (AT < G (TSI @I Fol A A AR GFB b=3i+k T

(5 AT G GRS b GF Teld o =7 |
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—

(i) 3 a+btc=0 @3 |a|=6, |b|=4 g3 |¢|=3 =7, ©@ b © ¢ (I WHF TS @

cosine-4d W= f&efs FA1 |
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2. (e) T (I aFH &ATHA Teq we ¢ 4x1=4

im n! -
(i) = feky < ¢ L%(an
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1
1 n 1
+ 0 —— |dx =———log2
(i) & Al ¢ g(l—msz g
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2. ) @ @9 GF0 AT Tea wie ¢ 4x1=4

() G5 I& DT Gy Foas SHIRST WTee | 4N B el 4 Tl 212, TFS SIFAF Ty 2 Gl AN
GR PO BIFRE T 3 T AR e €2 TG e G0 5 SN FBR! el Al |
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(i) G TG BeFT TSR [Feiee fwziel ¢

X

4

5

0.1

0.3

0.4

0.2

MG DA T 8 ANF AL 7T It |
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3. (a) (T (I aFH A Teq we 3

(i) ofCa™F, A 5 95 fSOIfia A ¢ 6 9 febifse B =itr @<k @fe & F, Q00e 50 20 #1301 |
oIS & F, A0 8 4 fObIfi A ¢ 10 <5 feBifs B itz @< 2ifS &l F, Qi 350 30 77 |
YTSIT (I i 80 9 TOBIfE A 8 100 955 TBIRA B w830 | Pos F© A5 T JHGH
T ATH LG qLA OB 2z a1 789 ©f @R (i [KiE swejmmee gex a6 |
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(i) 76 TR F, e F, (A feait onls A, B € C (9 9y A<z FI0 27| A, B ¢ C @nl¥ feaioa
AfEF RGH IAFC 5, 56 4 &FF 77| F| € F, IR Afes Tesive Fe] AT 8
8 6 GFF | PRI (AT WA 7T S GFF 2/ #ARTRCAT Wb 0ba Oiferdi (rean zoi—

S |olfs G5 Sy 157z 45 (G
BAGKIGII A B C
F, 160 100 150
F, 100 120 100

(I P! (ATF (e ST F© el 2/fF72 FACE 4T PeTosl 207 ©f @RF (ARG FAPAiAce!
o FCA |
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3. (b)) (I YL ATHI TGA Wi ¢ 5x2=10

() TP ITOAT G0 TR SToe i A fBfel GTFHrae o @3 €3 Ao ool (Fawier Jia ofo
Sl Gifocate B 2t (ile (@ 20 =3B
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Xy Xy
.. _+_:1 % ) _+_:1
(11) R A8 «R .

5 TG R AR U0 ST (Faqat oo FCl |
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(i) ax’+by’ =1 9K ax>+by> =1 IEYL T[T TFSII (A FACE Lo FCA

I 1 1 1

a b a' b
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(1v) ML Al 8

(y sin? —x coszj xdy = (X cos? + ysin ijdx
X X X X
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3. (¢) @ @ o ot Ted wie ¢ 5x1=5
() M 90 7R, GF0 T SR I ARS @, B, 7, 0 (Flo T F(F, OF AW FF (T,

4
cos’ oL+ cos’ B+cos’ y+cos’ 0= 3
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X 'y z X-3 y-2 z+5

ox_y_z
W 5=773° 3 5

O FITSHT AN [N a1 | Srezoid AT (©FF SFIH AT A |

TR U5 AT Soid a1 (@ el (1, 2, 3) Reonh,
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PART - B
(Marks - 10)
4. AT et FEvA FCH AR ATH @ 1x24=24

(i) cot(cosec_l2+c0s_l %) G W

(a) 1 (b) 0

() -1 (d) e
(i) A ge @0 39 WHH @ A’ =1 T A

(a) 1 (b) A2

(c) a (d A’

(iii) f:N-N;f(x)=3x g
(a) 9F-95 Goifaioas (b) T & Teifdfoas

(c) T I TBH5as (d) 9F-9F TBH5ge

(iv) JZe AP oS f(x)=[x] & 2@—
(a) x-b el AR & TGS (b) x-GF T WA AN G HFO

(c) X-93 I O MR & 7Fe  (d) 9T (FI02 7|

v) jsin x°dx =

icosx°+c b @cosx°+c
(@) 130 (b) -

—@cosxo+c d —icosxo+c
(c) - (d) 130

(vi) X’ =4ay fdgres Tom (2at, atz) Tre wiwe gfesrss @fe 27

1

@ ©) t

oL
(c) —t (d) t




DDKKHA

[39]

Math (XII)

N

(vii) T a =2i+4 -3k, b=i+2j+mk &=

3
(a) 5

3
(c) 5

- -

- -

axb|=0 37 O m 9q T IET—

(b) -3

d) 3

- — —1 — .
(viii) r=a+tb 8 r=a +sb I GO JIOA U] B(I—

(;J)xz\

© T

(ix) P(A)z%,P(B):é aR P(AﬂB)z% Z(e, P(A/B) ¢ i Z@—

(x) Var(ax+b)

(a) aVar(x)+b

(c) anar(X)

14
(b) 7

4
@ 5

(b) a*Var(x)+b

(d) aVar(x)
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GROUP - A
(Marks - 35)

1. Choose the correct option for the following questions :
(1) AT flip flop is constracted :

(a) by connecting the SR inputs of and SR flip flop

(b) by connecting the JK inputs of and JK flip flop

(c) by connecting the S inputs of and SR flip flop and connecting it to the R input.

(d) by inventing the J input of an JK flip-flop and connecting it to the K input.

(i1)) The memory state of a flip-flop occurs when the inputs are :

@@ (1, 1) (b) (0, 1)

(©) (0, 0) (d) (1, 0)

(iii)) A edge triggered synchnorous sequential circuit can respond to an input :
(a) during the time the clok is in ON state.
(b) Only during the positive clock transition.
(¢) during a clock transistor

(d) Only during the negative clock transition.

(iv) A counter made up of ‘n’ flip-flops can have a maximum MOD number of
(a) 2! (b) 2" -1

(c) 20 (d) 2n>

(v) A 4 bit ring counter can be intialized by the signal pattern :
(a) 1100 (b) 0000

(c) 1011 (d) 1111

(vi) How many different arguments does the main ( ) function in ¢ have ?
(a) 1 (b) 3

(c) 2 (d) 4
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(viil) When data is transferred from a program to a file, it is called :

(a) file input (b) file transfer

(c) file output (d) file process

(viii) If the f seak () function in C executes successfully to read data form a file, then it returns :

(ix)

(x)

(xi)

(a) —2 (b) 1
() 0 d) 2

A stack uses a —— accers mechanism.

(a) Last in last out (b) First in first out
(c) Last in first out (d) all of these

The postfix notation for the infix expension a / B*C will be
(a) ABC.*/ (b) AB/ C*

(c) AB*C / (d) ABC / *

The topmost layer of the TCP / IP model that consists of the application programs and
protocols used by the end user is the

(a) link layer (b) Application layer

(¢) Network layer (d) Transport layer

(xii) The scheme that uses alphabetic names instead of IP addresses for computers is called

(a) DNS (b) DNA

(c) DNU (d) DNI

(xiii) The MIME protocol stands for :

(a) Multimedia Internal Mail Extension  (b) Multipurpose Internet Mail Extension
(¢) Multipurpose Internet Mail Exchange (d) Multimedia Internal Mail Exchange.
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(xiv) Which of the following is not a part of the meetadate in a data base ?
(a) Name of the tables (b) Properties of the table columns

(¢) The data stored in the database (d) Names of table columns.

(xv) The design and structure of a database is usually specified by the
(a) DCL (b) DML

(c) DDL (d) DQL

(xvi) In an EF diagram of a database, a rectangle represents
(a) an entity (b) an attribute

(c) a relationship (d) a key

(xvil) A minimum combination of attributes, whose values can be used to uniquely identify a tuple
in a relation can be called a
(a) Key (b) candidate key

(c) primary key (d) all of these

(xviii) Which of the following expressions best explains transitive dependency between the attributes
X, y, Z in a relation ?
(@) ifx > yandz > ythen (x,z) > y
(b) if x > yand x— z then y— z
(c) if x> yandy — zthenx — z

(d) if x > yand x = z then x — (y, 2)

(xix) The symbol used to denote a set intersection operation in Relational algebra is :

(@) TI (b) 5

(c) U (d n

(xx) Which command is used to arrange data in a given order in SQL ?
(a) stone by (b) list by

(c) order by (d) arrange by
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(xxi) In C++ a class member function with the same name as the class name is called a :

(a) accessor (b) destructor
(c) operator (d) constructor
2. Answer the following questions in breif : 1x14=14
(i) State one difference between S-R and J-K flip-flop.

Ans.

(i) How can you create a T flip flop using JK flip flop.
Or,
State one use of D flip flop.
Ans.

(iii)) What is the difference between SISO and PIPO Resistor ?
Or,
If the data 100100111 enders a 6 bit SISO register from left to right then what will be the

content of the register after 8 clock pulses ?
Ans.
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(iv) What are the two arguments of the fopen ( ) function in C ?
Or,
What is the use of ftell ( ) function C ?
Ans.

(v) State on utility of using a linked list over an array.
Ans.

(vi) What do you mean by the term “Stack under flow” ?
Or,
What is the full form of LIFO ?
Ans.
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Computer (XII)

(vii) State one advantages of fibre optic cable ?
Or,
State one use of a HUB.
Ans.

(viil) What is a peer to peer network ?
Or,

State one advantages of using a ring topology of LAN.

Ans.

(ix) State one use of a gateway in a computer network.
Or,
What is the full form of UDP ?
Ans.
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(x) What is the main use of an URL ?
Ans.

(xi) What is a computer virus ?
Or,
What is the purpose of the BCC option in an email ?
Ans.

(xi1) State one difference between a superkey and a candidate key.
Or,
Define many to many relationship in a database.
Ans.



DDKKHA [9] Computer (XII)

(xiii) State one difference between a constructor and a destructor in a class in C++
Or,
What do you mean by function overloading in C++.
Ans.

(xiv) Define the term ‘Polymorphism’ with respect to oop language.
Or,
Why is the scope resolution operator used in a class definition in C++ ?
Ans.
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GROUP - B
(Marks - 35)
3. Answer the following questions (Alternatives are to be noted) 7x5=35
1. (a) Explain the working principle of Master slave flip flop.
(b) Write two difference between synchronous counter and Asynchronous counter.
(c) Draw the circuit diagram of D. flipflop and explain Truth table. 3+2+2
Or,
(a) Explain the working principle of BCD counter.
(b) Draw the Block Diagram of a PISO Register.
(c) State two difference between an asynchronous and a synchronous counter. 3+2+2

Ans.
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(i) (a) Write the alogrithm for ‘push’ and ‘pop’ operation of a stack.
(b) Explain ‘call by value’ and ‘call by reference’. 4+3
Or,
(a) What is a linked list ?
(b) Write the algorithm to add a node at the beginning of a linked list.
(c) What is the use of the ‘rear’ variable in a queue ? 2+4+1

Ans.
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(i) (a) Write the difference between star topology and Ring topology.
(b) State any two difference between a bridge and a router.

(c) Explain the term DNS and packet switching.

Or,
(a) Write the names of the layers of the TCP / IP Model. Explain the functions of any two layers.
(b) Write a short note on the working of Telnet. 1+4+2

Ans.
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(iv) (a)
(b)
(©)

(a)
(b)
(©)

Ans.

What do you mean by Data Independence.
What do you mean by Referential Integrity Consistant ?
Explain natural join operation on relations.

Or,
What do you mean by the degree and cardinality of a relation ?
Explain transitive dependency with the help of proper example.
Write the syrtax of ‘CREATE’ and ‘ALTER’ statement inSQL.

3+2+2

2+3+2
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(v) (a) Write a program in ‘C++’ to check an integer whether it is odd or even using class and object.
(b) What do you mean by data member ? Give example. 4+(2+1)
Or,

(a) Explain the terms Data Abstraction and Encapsulation with respect to oop with the help of
proper examples.

(b) Define a construction in C++. (3+3)+1
Ans.
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(Marks - 35)
1. og Teaalem wy (4 A Teal® @z e @t ¢ 1x21=21
()  EERGET AT 9o A OF SiF PE5 (@3 PRI & AT OF AT T 27—
(a) AND gl =il (b) OR == =l
(c) NAND il =il (d) NOT ==« =l
(ii)  SOP € POS AT FCq JIZ® 2F |
(a) logic circuit (b) Logic hate
(¢c) Two Level Curcuit (d) hate
(iii) (SRR (AF AR GTCHONIT (F0q 2995 Hroere AF—
(a) 9T (b) 10%
(c) 16 d) 4%
(iv) «3IfET 290 @ @b WG T[T I& e AHG ze1—
(a) Deoder (b) Multiplexer
(c) De-Multiplexer (c) Encoder
v) Half subtractor circuit @ Borrow €3 Boolean Expension G 2&
(a) xy (b) xy
(©) xy (@) xy
(vi) TSMCF (OOl 2RITe TCe “AT—
(a) Simplex mode ¢ (b) Duplex mode 9
(c) Half Duplx mode ¢ (d) Full Duplex mode €
(vii) PRIR-G-FRIF (@5 eress Computer R 9w 37
(a) FITT A (b) GFWMF AST SNMEF FIITD

(c) AT (d) e
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(vili) 9o 7T (OSFT IS FC G T (@oeAF &AT TI2IT FA0O

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

(LT TW—

(a) o= (b) RfGix

(c) R (d) AT

FTHRAG (TH! SMeMIE Fa—

(a) CSMS/CD #&fere (b) CMS/CD “&fere
(c) CSM/CD #1&fere (d) CSMA/CD #mfere
AL PO 2T Ze—

(a) Creeper (b) Brain

(¢c) Computer (d) ELK cloner

www g T[S el —

(a) &1 a5 (b) fo1 @ f=F
(c) gLl (d) Tour et fer

FIZCE B FleeAST IHItEa T Aleero AF—
(a) meta Data (b) Data Dictionary
(c) Index (d) Batch

AR A Y6 (THICICR 0 7S (O 41 27—
(a) Super Key (b) Candidate key

(c) Alternative key (d) Primary key

76 Relation m, '€ m, &% cartesian product (IR TR &
@ M, DM, (b) M,;-M,

(c) M, x M, (d M;NM,

Rk
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Computer Appl. (XII)

(xv)

(xvi) Like Operation (¥ %2 <FC¥ wildcard I8 I & (T&fel ZoT—

(xvii)

(xviii)

(xx)

(xx1)

RDBMS @& (%9 (5R0e@ ROW Jl TUPLE €3 (T RACF o7 27—

(a) Cardinality (b) Degree

(c) Domain (d) Attribute

(@) % € * (b) 2 e *

(c) % e — (d) % e+

(TS Data Entry J-WIE 418 26—
(a) Constraints (b) Entity

(c) Foreign Key (d) Integrity

Conditional Formatting SI?*< ACF—
(a) Home (b) Insert

(c) Page layout (d) Review ¢®

(Xix)qICd (I *GH6 I 7IA Marco TIETe I3 emi*fe 232

(a) Ctrl + F2 (b) Ctrl + F8
(¢) Ctrl + F4 (d) (FICAIDE 7|
Report Zo Access 9 46 —

(a) T~ (b) IR

(c) (BB Bigwi (d) wRCEE

THa @0 Access 2007 O3 BT GHGART—
(a) .mbd (b) .accbd

(c) .doc (d) DL 77|
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Computer Appl. (XII)

2. wfafe epeferm wfrg Ted wie @ (Reg amiafs w@sda)

(1) Multiplexer @ De-Multiplexer €3 212 (0
Ans.

L, Decoder € Encoder ¥d Ny (&0 |
Ans.

(i)  NAND hate it OR hate ¢S S |
MR X-OR Gate @9 Truth table o (rare —
Ans.

1x14=14
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(ili) IS AT IIF A2
Ans.
(iv)  Client/Sever Network JeT0e & (A2
Ans.
v) Synchronous €32 Asynchronous Transmission €3 #1€/< (&0 |
w2, T € QRS A= 219y @ea |

Ans.
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Computer Appl. (XII)

(vi)  Bus topology Rl ¢eTC4l |
RREIR Repeater U5 e (10T |
Ans.

(vii) HTML € Rowspan @3 F& 2
Ans.

(vii)) MS-Access @ Composite Key It a1 ?
RREIR Candidate key J&1C® & (Jdi?
Ans.
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(ix)  MS-Access @ Attribute TCo &F (AR 2
RREIR Many to Many relationship J&1C® & (2
Ans.
(x) MS-Excel € (®b! fFoifde &2
Ans.
(xi)  MS-Excel € Macro J&10s & ARV ?

Ans.
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Computer Appl. (XII)

(xii) MS-Excel @ Round () TN F&r (10T |
Ans.

(xiii) MS-Access @ Auto number Data type @3 (A& 1041 |
Ans.

(xiv) MS-Access & Report FICF A1 ?
w1, FRCeNs FICF A0 2
Ans.
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(Marks - 35)

3. fsfarfie enufem Tea wie ¢ (Reg emiaf amd) 7x5=35
(1) (a) Full subtractor circuit €3 difference €3k borrow-d Logical expension &f& derive F0A1 @]
Logic diagram® <&« S | 2+1

(b) @ 1 x 4 Demultiplexer @3 block diagram ST, €4t control line €3 F& Fe  2+1

(c) Universal gate J51C® & (12 1

o[,

(a) 3 to 8 line Decoder @ truth table T (F1C4l @3} block diagram I« (A | 2+2

(b)  Decoder €3t Encoder &% &y “NL< (02 | 2

(c) Two Level circuit SICF qCeT? 1

Ans.
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(i) (a)

(b)
(©)

(b)

Ans.

HTML @ Heading tag Iei7 ¢ & &2 JR0E 08! SIIC77 Heading (RS &+ (I tag

(IR AN 27 2 2

(Il text (F FSICT superscript € subscript FIF HTML (€ I 37 | 2

Frameset tag 93 ¥ &2 @F6 web page (F [0 39 Horizontal frame ¢ ©i9 99 HTML

(PTG (10T | 3
S,

[ g\

HTML 929 F(F 93 webpage (o4 Il Ao WHEe Table & at3—
Table Name : STUDENT

Roll No. Name Class Section
121 B. Paul Xl B
123 S. Roy XII C

Marque tag 5?2 SWizgel AR AT |




DDKKHA [ 13 ] Computer Appl. (XII)




DDKKHA

[ 14 ] Computer Appl. (XII)

(i) (a)

(b)

(b)
(©)

Ans.

6T tablels #F a1 @9k SQL command & ARITT query (FC |
Student (Roll No., Name, Phone, Math, Eng., Coms.)

(i) AW FE ©F ‘SA” M SItwd Name '€ Phone Number (216 |
(i) ¥ English @ Maximum number (#I((% €9 Details (w3l

(iii) Roll Number €3 ascending order ¢ table-93 Record @& A | 2+2+2

BTG G @O [ (I 2 1
o[,

Relational Algebra (® Selection Operation @33 Projection operation J#1C® & (IRl 2 TwIZel

RN (eTCRT | 2+2

vib relation @ set difference eIt 2w 1 2302 1

Primary '@ Foreign key FI(F J0s1 SWIZAE (31CH | 2
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(iv) (a) Conditional formatting J51C® & (ARI? 2
(b) Absolute @ Relative cell reference JHCH NCSTIDT S | 1Iat+1
(c) A4 cell @ marks percentage ST

Grade ¢ S Syntax (FC

80 — 100 2teT ‘O’ Grade

60 — 79 20T ‘A’ Grade

40 — 59 20e1 ‘B’ Grade

30 —» 39 201 ‘C’ Grade

30 @3 % 20T ‘D’ Grade

S,

(a) Worksheet @3 column width FeIa change 93¢
(b) Work book @ RFeIta Tgq Works sheet ARG I 2
(c)  Auto fill ITCe &F @2
(d)  Column 8 Row hide F9I9 &S (10|
Ans.

DN =N
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(v) (a)  MS-Access 9 76 (GRCER 35 Relationship T 4191 (3101 | 3
(b)  MS-Access 9 Design view @ ST Table (oS 7@ (o104 | 3
(c) MS-Access 97 table @ FSIa 99 Record ACAIGH (A | 1
S,

(a) Auto Form (S #&fs (#1041 |
(b)  MS-Access @ (FICAI table @& g Field Add F91F “&fs (04l |
(c) Data sheet view @ Design view €3 212 (5104l | 2
(d) Query (SS1F *i@fe (S04 |

Ans.
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1.

PART - A (COSTING)
(Marks - 25)

Afafire g3 qATY Terad & [eaw o ment 2d) el weifiveret gaz wefasm e@rwtag
CFLE THA (IO (ST (A | TATY 2ATHF 7l o =tz

GROUP - A

AfdF Teal F4ivn Fta viwmte A ewe I @A 1x8=8

(i)

(i)

(iii)

(iv)

(v)

BT @L AR «iFw @
(a) T SF (b) Bet =

(c) R TR d) (a) e (¢)

e @ a7l efors JHMe W I ©f 26—
(a) 32 QR T TS FCE 6 (b) T FH

(c) TR ©el (d) Re <=

100 @FFF &= 5 200 Bl 200 GFFF &= 57 300 BT, 300 G &= 5 400 Bl ©f
T JRF 4390 TeT—

(a) F2= (b) Wgl-sifFaEareT

O RIERSERIGH (d) 90 (e 7|
fsferiie @ 53l eor =wR ©f 2er—

(a) ARTHHT (@O (b) I SAIGET TG
(c) Rl @on (d) TSR (&

Administration overhead-9% S¥YE 2(I—
(a) P NS S_E (b) Celrelld O SRH
(c) FGRIET @3 el (A (d) @ICADE 97

e freitel e e <en
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(vi)  Opening stock of Raw Material Rs. 40000, closing stock of Raw Material Rs. 50000 <<}

Raw Material consumed Rs. 150000 ZteT Purchase of Raw Material 23—
(a) 140000 (b) 150000

(c) 160000 (d) 170000

(vii) M IR €27 TS 20% 2T, OIRCE REEH 9T TS 2(T—

2
(a) 165 % (b) 20%

1
() 25% (d) 335%

(viil) Semitag g 2e1 @io e afew a fFge se—

(a) WeTAg EZ (b) WEsg wee
(c) SeTolg <RI d) 9E S
GROUP - B
2. ffafie emefim Tea we ¢ (Reg ertafe srsda) Leses
() Y 9T FE A2

Ans.

(i) P IR e 7 SIER qRw Je1 23 2
Ans.

B,
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ISR AR 9T F 2
Ans.
(iii) ol = St e (Adjustment of semi-finished goods) J#C® & (AR 2
Ans.
RREIR
@I @@d Tesime 7 (Cost of Goods sold) IeITe Ft (IR 2
Ans.
(iv) & I (Prime cost) IECS F (AR 2

Ans.
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(V) el ARSI T IS A 2
Ans.

GROUP - C
FwfEfe oree Ted wie @ (Reg axief w@siy)

3. AT @ Srrrefe Sl 59 4x1=4
Ans.
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RS
%7 7 @ ARG AT A 2L (572 |
Ans.
GROUP - D

Fferfae emiba Tea wie ¢ 8x1=8

4. From the following information prepare a Cost Sheet for the month of october 2019
Rs.

Purchase of Raw Materials 2,19,000

Carriage on Purchase 11,000

Sale of Finished Goods 7,23,000

Direct Wages 1,72,000

Non-productive wages 8,000

Direct expenses 12,000

Factory Overlead 83,000

Administrative overlead 32,000
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Cost. & Tax (XI)

Selling & Distribution Overlead

Raw Materials
Finished Goods
Work-in-progress
Ans.

01.10.2019
2,50,000
1,73,000

82,000

42,000
31.10.2019
2,62,000
1,57,000
91,000
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PART - B (TAXATION)
(Marks - 25)

5. ofel ariw g Seaelm Wty (Ate Alvs Teal® @z R vWwts N ave I @2 3

(i)

(i)

(iii)

(iv)

v)

1x8=8

15.12.2018 SIffte uee i IRET T Oiaedd Ol T4 | 15.12.2018 ©ifFd «1=%® o
ST P9 7o I=7 (Assessment year) 2(a—

(a) 01.04.2017 2t 31.03.2018 (b) 01.04.2018 (At 15.12.2018
(c) 01.04.2018 (2t 31.03.2019 (d) 01.04.2019 (2= 31.03.2020
ST TRCAT AA N —

(a) @12 12 S (b) 12 T @M 20O A

(c) 12 SR I 20© A (d) 12 97 A 12 MT T 20O AN

Aeom ¢ [FeFma s erel—
(a) (AOTRITE O BT 75l T (b) SV T (ATF O ZANI 379 TN

(c) 10(17) & 75 e (d) 5000 il +I¥® Fae

G SERTT TS e SR A L @I (AT SR, 68 AR—
(a) 51 T[S (b) T=lef A0

(c) 90% FATE (d) amF FH3 77

fam efEe fog erre (s FafEe I (A TS i T FE—
(a) SLNE SRIOTCFA &= (b) BT TRIPFTR S

(c) BYG AF® HRIPE @8 (d) = R &=

TR AT AT W O &)
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(vi) SRR Teifss FAed W 3rd January, 1947-9 FRABTS Treze Tl | Faced @, S5,
DIFA—TFCRR T AT | FACAT AT 8 S TS FOGA Mifes | (el G —
(a) SRS TIRF (b) ©iFeR wrHige [FE i

(c) ot Sz (d) 9 @FIeaHE 77

(vii) il 917 9T SO TR LTI Tl SIS (R0T 0o [l 5Ivf7a &y | F9 fweffael
2 2019-20 AR e Tof SRIPRE q0eT 9o 20w AW fla 2018-19 +FS T2tq wiFeacd

N —
(a) 181 fa= (b) 182 =
(c) 189 e (d) 281 =

(viii) TPOR =12l «Fe SieR F9RT FPLG AT ffF st January, 2015-(S BIF IRCF &)
FICIT T @R GRAM <167 [ 31st January, 2019-4 ARSI @0 a1 2018-

19 7ol q=ea O oI Sl 2a—
(a) SIRIPE @R AL SR (b) SRIPRE TG AT IRAPTE T
(c) SIIfPE (d) 9= IHE |
6. el epufers Tea nie ¢ (g emiafe i) 1x5=5
(i) Tl TS 1o oNEE Triggel wie |

Ans.

(i) Sl T2 F 12 MO I T A2
Ans.
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w2,
ST AR fF 12 NER @A 20O A2
Ans.
(i) ST T FEACo | @RI?
Ans.
(iv) SRR 93 JiE FCE o0 22
Ans.
V) T ORIPF TR ARSI SRiPE ¢ e w12
Ans.

T,
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RIS @R AR SR 208 =0 (Pl 46 TS 7 FA00 22

Ans.
7. fwfaie etia Tea wie ¢ (Reg epiafa arwaim) 4x1=4
() 9 PR, ‘T GUAr @ ‘FF AARFHA 0o F @R G S AL (71 |
2,
9 fdffael a2 @ SF<S] R WKy TAE [OIF 9| @R (G 9 479 2 8 S7TS! 2 @8 =W
it #If757 wie |

Ans.
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8. Mr. Pradhan is a citizen of India. He has settled in America. He comes on a visit to India every
year but his stay in India during 2012-13 to 2018-19 is less than 182 days. His investment income
during the financial year 2018-19 is as under.

(1) Interest on central government securities is Rs. 54,000.
(i)  Interest on deposits with an Indian Company is Rs. 36,000.

& (ii) Interest on debenture issued by an Indian Public Limited Company is Rs. 50,000.

What is his residential status & work out the total income during the financial year 2018-19.
Ans.
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9. Discuss the tax liability of the following amount in the lands of an assessee who is (i) Resident
and Ordinary resident, (ii) Resident but not ordinarily resident & (iii) Non-resident.
(a) Income from business in Canada & received there Rs. 120,000. The business is controlled
from India.
(b) Income from another business in Canada & received in Canada Rs. 60,000. The business
is controlled from Canada.
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() Income from business in India and received in Canada Rs. 80,000. The business is controlled
from India.
Ans.



